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1.  Which was the first princely state annexed by the English East India company as per the
doctrine of lapse in 1848?

(A) Hyderabad (B) Travancore
(C) Satara (D) Mysore

2. Who introduced the portfolio system in 1861, as part of the implementation of the Indian
Council’s Act?

(A) Lord Wellesley (B) Lord Minto
(C) Lord Cornwallis (D) Lord canning

3.  Which among the following is not nominated by the Lord Canning to the Council in
18627

(A) Raja of Benares (B) Maharaja of Patiala
(C) Maharaja of Mysore (D) Sir Dinkar Rao

4.  Which act established a separate electorate for Hindus and Muslims?
(A) Government of India Act 1919 (B) Indian Councils Act 1892
(C) Indian Independence Act 1947 (D) Minto Morley Reforms Act 1909

5.  Who established the rule of diarchy system?
(A) Lord Action (B) Montesquieu Chelmsford
(C) Lord Cornwallis (D) Lord Mountbatten

6.  Who said that “Swarajya is my birth right I shall acquire it”?
(A) Bala Gangadhara Tilak (B) Bhagat Singh
(C) V.D. Savarkar (D) Bipin Chandra Pal

7. In which house did the Indian Independence Bill be introduced?
(A) House of Commons (B) House of Lords
(C) British Council (D) Federal Legislature
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1848 @e6v ymiflevs HlPsSIHSH W BHiNeUeTHST60 60mLieny CamiumiigeTLly @)enestTaeLILILL
(PSH6Y FLOEVSTEOTLD 67857

A)  emamsrmTUTS B) HmaNsrrgar

(C) ey D) evwEF

@nHwu  HeystrFledletr  FLLEHMG ~CFweLLIHSHUSHT @ UGHwrs, 1861  @ev
CUMTLGUTENCWIT (Wenmeni M (WaLILI(H &S weuF wmy?

(A) sumrL Gleusvevervsd B) somyL AlesETGLIT

(C) eomyL s&miyesToUTES)61 D) eormyL Casevflr

NedTeu(HeueTTEUM N6V 678 1862 @)6v s6siTElenI& & Caesflim LNFLsumsy LflbglenTHasLILLeNevemen?
(A)  Quevrmiysiv Fegm (B) umligwmeor wamymem
(C) evw&T waTyTRRM (D) &7 Hewsy qmeu

& FLLID @\h&I8HEEHE LW (PeVeSDE EhHE WD &6sfl eursaTery QTG Henw gnubHSSHwg?
A) @bHw ore Fird 1919
B) @nsHw sesrdlev L 1892
C) @nHu asbHHTe Flrd 1947
(D) WerGLT LTTEN FFTH(HSHHEF FLLb 1909

eOLWTTEEH Semlifer gl flenw HlmeNweur wry?
(A)  eomiL gy FaetT (B) wmestrLmevdw GlgwsvGumyL

(C)  eumyL &myesTeUMESl6T0 (D) oL weyeseT GUILL 65T

“enveurmgawiid erestg) LNDLILflen Hems mHrest QlumIGeusst” eTedTm Fonflwieury wimy?
A)  ume BRIBTEHT HevsT B) uss Hm
(C) ely. FreufsHsT D) YNesr FHH T LD

61hs ane|Flev @b &HHHT EFTST ClamesT (HleurliulLg?
A)  ameyen ocsll HTL6sTeN B) ameyev o6l eomFLen
(©)  YVLyes sesiTe6v D) HQULF6L GlevgdlenvCev& &y
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8.  Which of the following statements is true?

(A) Ambedkar believed that political democracy is meaningless without economic

democracy

(B) Swami Vivekananda supported a liberal economic system based on capitalism

and materialism.
(C) Subash Chandra Bose established Republican Party of India in 1942

(D) Nehru promoted the idea of two nation theory based on religion

9.  Which among the following persons is not a member of the Cabinet Mission Plan?
(A) Lord Pethick Lawrance
(B) Lord William Bentick
(C) Sir Stafford Cripps

(D) A.V. Alexander

10. Who was the governor General of India when the Jallianwala Bagh massacre took place?
(A) Lord Reading
(B) Lord Hardinge II
(C) Lord Chelmsford

(D) Lord Montagu

11. In which year did Gandhi form the All India Anti Untouchability League?

(A) 1925
(B) 1930
(C) 1932
(D) 1935
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8.  etreu(mld Fammiserfley 68| 2 ssoTenLn?
A)  QuUTEHETTHTT WETHTWSD @)6VEVTDE HTFHWE) WETHTWHLD HTSHSWMMS| eT6tTm)]
SILCUS&T BLDLSleTTIT
B) seumd) eNCeusmeThHsy (PpHevmeflHgeud LOMMID CUTHST WPHL UTHHENS

SlgLILIMLWITES Gl&STEBTL STFTETOW GILM(HETTSTT HenLienL Y 5FSSTT
(O)  sumey shHr Cumev 1942 @b @BSHIW GLwrss sLdenw HimieseTmy

(D) Crm wasHeT SgliLenLuNey @) CaHas CHTLUTLENL (P6IT MEUSSTT

9.  ebreu(nid LTSNy WITT SenwssTemeu Lswwls S S0 2 miLNesyrs @svensv?
(A) sl Qu)S suTTedTEN
(B) eomyL eNevedwid GluebTigs
(C) &FevLTSHCUTTL &Hlifllien

D) g.a9. 2166v&FT6vITLT

10. gmedlwest sumevmLITE: LIHGSBTEn6L BHLHSEUTE @HHWTaN6T HeUFerTy CleewTysy wimy?
(A eomyL g
(B) eomyl ewmiyigrs IT
(C) Q&wevsoGuTFL NFY

(D) wresTCLE Y

11. srHH iHev @QBSIW SeTTLTENW T FLIL HLPHHENS 6THS 24,6507 (H HlmieNesrmy?

A) 1925
(B) 1930
(C) 1932
(D) 1935
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12. What is the motto of the Indian National Army?
(A) Unity Faith, Sacrifice
(B) Do or Die
(C) Unity, Faith, Acquire

(D) The whole Universe is one Family

13. Who formed the organisation named Servants of Indian Society?
(A) Gopal Krishna Gokhale
(B) Bala Gangadhara Tilak
(C) Bipin Chandra Pal

(D) V.D. Savarkar

14. Who was the first temporary Chairman of the Constituent Assembly?
(A) Dr. B.R. Ambedkar
(B) Dr. Rajendra Prasad
(C) Sachidananda Sinha

(D) Panampilli Govinda Menon

15. Which feature is not adopted in the Indian Constitution from the Government of India

Act 1935?
(A) Parliamentary system
(B) Dual form of government
(C) Plural executive

(D) Dual Executive



12. @npsHw CaAw rrem|sus e &HnleCaHTeT eTeTeor?

(A)
(B)
(©
D)

@MMIenLD, BLOLN&EMS, SWTEHLD
Qe 9i6v605| C\F5H5] LIy
@MMIENLD, HLOLNGEMS, C1LIMISH60

Ww NTuERFWD @CT G H bULD

13. Servants of Indian Society eresrm ojemioLienLs 2 (Heums&lweu wimy?

(A)
(B)
©)
D)

Gamumsv &) (mepsssr GamesGsv
LTV SRISTSHT HeVsT
96t EHST LIM6L

69.lg. FTEUTEHE]T

14. ordlwed Hljewrw FenLUN6T (PH6L HMHHMEOS Hem6v6uy WITH?

(A)
(B)
(©)
D)

LT&LT L9847 HDCLSST
LT&LY prembdlry Nyems
F&FBMerTHS FlesTamim

uestLNeerfl Camalnbg GLoesTest

15. @pdHwu opFwuey Flrb 1935 Ompba dHS AHDFD @bHw

gHMISCBTeTETLILLON6VEn6V?

(A)
(B)
©)
D)

LITFT(ETHLO6OTI) S{6mLOLIL|
@TL6nL HTEFTHISLD
LIgeThT6V 6T &SI L 1961

(Hwev eTsFl&luL L igel

156/2024-T

37&lwi6y

3ienliey



156/2024-T

16.

17.

18.

19.

20.

In last financial year 2023-24, the biggest trading partner of India is :

(A) USA (B) China

(C) Canada (D) Brazil
Match List I and II as per Census 2011 :

List I List 1T
(1) West Bengal (1) Highest Density of population
(1) Bihar (2) Second highest share of SC population
(1i1) Maharashtra (3) Highest Infant Mortality Rate IMR)
(iv) Chhattisgarh (4)  Second most populous state
Which of the following match is correct?

A)  ®-(1), (1)-(2), (11)-(3), (v)-(4)

B)  ®-(2), (1)-(1), (11)-(4), (v)-(3)

©) ®-4), ()-(1), (11)-(3), (v)-(2)

D) ®-(1), ()-(3), (i1)-(4), (v)-(2)

Importance of public sector investment was heavily curtailed first time under which
Five Year Plan?

(A)
(©

Fourth (B) Sixth
Ninth (D) Twelfth

Which of the following is not true for MRTP Act, 1969?

(A)

(B)

(©
D)

Consider
Theory :

(1)

(1)
(iii)

(iv)

The Act aimed to control the activities that can potentially endanger
competition and fair trade

The Act targeted to control the monopoly power of the large business houses
The Act encompassed all states excluding only Assam
The Act was abolished after economic liberalization of India

the following propositions in connection with Dadabhai Naoraji’s Drain

India imported heavy industrial machinery and food from England at a very
high price
India paid home charges to England for developing India

India exported the much-needed raw materials for British Industrial
revolution at a very cheap rate

British administrators remitted most of their savings back to England, which
could not be utilized in India.

Which of the followings is correct?

(A)
(©

All four B) (@), (i1) and (1v)
(1) and (iv) D) @), (11) and (1v)
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sLbHS 2023-24 hlFlwmesorigsn, @mbSHlwmeNsst WBleL6Lflw euF&H5Hs URIGSTT] :

(A)  oQwA&sET B) Feorm

(C)  mevrLm D) WNCrasv
2011 & &6 GgTens Hewrs6lsH\LetTLIg Curiig Ul guwisy I wmmb IT :

uligwey | uligwiev 1T
(1)  CuwmE eumsmeTD 1) oIFH& WEHET FHTEOSH LTSS
(i) Ssmy (2) SC w&&s6ToFHTemsEUN6L @TeTLToUS] SHHs LIk
(i) wsmyTaispyT (3) 219 @ubms @iy e98sb (IMR)
(iv) ssdevsF 4) oHs wEHHET CsTems ClSTEITL @) TeUTLToUS)
omhlevLd

NesTeu(HLD QUMHSShIsG6T6 6rg) Fflwimenrg,)?
A ®-1), ()-(2), (i)-(3), (v)-(4)
B)  ©-2), @)-(), (11)-(4), (v)-3)
©  ©-@), (@)-1), (11)-3), (v)-(2)
D) ®-@), @)-(3), (11)-(4), (v)-(2)
6ihg WHSTEET(h LSS S CUTHSHIEND (PHESLI6T (PHEWSHHIGUD PGV (PEODWITE
LI(HLO6TTE6V (HemMESLILILLG)
(A)  presTsTog) B) ez
(O) eetTUgTOUG) (D) ustevliyevoTLTOLS)

MRTP gL Lib, 1969 &8 1NetTou(HeueTEUMM6L 675 2 6TITERLOWIEV6L ?

(A) Gumly oD  Hurwuorer  UFSSSSHHEG USmE eNemeTal&HeH5HFalglL
QewsiumhHisensrs &L (HLLbHSHHIeUens CHTEHELTHS 6 STEBITLS| FLLLD

B) Quflu euewflas HmeussTrigsstler gaturs HaTrsms SLOUUHSS @6v5E,
HljesoTuisH s FLLLD
(C) @bsg FlLb HeFTD LLHD HeNTEHSH HMETSHE| LDTHlEVHBIHENETLD 2 6T6TL&HE WIS
(D) bHlWmeNesr  QUITRETTHTT — SHTTTMTLWLTHESEMSGL  NmE FlLb  JHS5
FWULLG|
sremumll  Cmergredlufest  Lemgest  &wifl (Drain  Theory) Gamiump wmnf) Nesreu(md
(P6TEIDMLH6 FH6M6TE &H6L6BTIUL|MISET ©

@) hHWT QrudeorhHled QmmHe Herrs CFThlegienn @ubSTmST LHMID 2 Tenel
& 315 aNlenevs (& QM &S CFISS]

(11) bHWTenel  eueTiESSHHETS @rflenbgsE Q@bHur fLHs slLausamss
FRISHIS)

(111) NPlyeys Qsmpled LrldsE Wsa|b Coensuwimst epeoliUmHLeensT @ nhHwT Lols
wedeumest ellemevuflsv FMHMILS) ClFWLISH S|

iv) Wflyes HiFeurdHgssT msEHmLW  CFUlUNe  QuEbUEGHow  @nhHwureiey
vwesTUHSSTo6L @midleurbH M, &H(HLULN HsnIliNeorry

NeT6U (HEUETEUM M6 6T FFlWTesTS)?
A)  preingd ® @), (iii) wppb (v)
© (i) wpmid (v) D) (G, (i) wppid (iv)
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21. Which of the following issues was not considered as the prime objectives of Niti Ayog?

(A) To evolve a shared vision of national development priorities, sectors and

strategies with the active involvement of States.

(B) To foster cooperative federalism through structured support initiatives and
mechanisms with the States on a continuous basis, recognizing that strong

State make a strong nation.
(C) To propose the investment plans of government over the Five Year Plans

(D) To ensure, on areas that are specifically referred to it, that the interests of

national security are incorporated in economic strategy and policy

22. Which of the following statements is not true for the Bengal famine 1949?
(A) Major decline in food grain production in Bengal and adjacent areas
(B) Significant increase in prices of food
(C) Small rise in agricultural wage compared to inflation rates

(D) Entitlement failure, indicating shrinking of collection of alternative bundles

of goods and services from are available for a person and he is free to choose.

23. The Green Revolution in India :

(1) Improved the yield of wheat appreciably, though that of rice stagnated
(1) Over-used pesticides
(1) HYV seeds optimised use of ground water

(iv) Increased inequality within agricultural sector
Which of the following is true?

(A) All are true

B) (@), (1), (a11) are true; (iv) false

(C) () and (11) are true; (ii1) and (iv) are false

D) (@), (A1), (v) are true; (i11) false

A -10-
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21. HF Y CursH e (PHHW CHTEHSERISETTHS SHSLILLTSE LNTEFener e1g)?

(A)

(B)

(©
D)

wrbleomseflesr ey FHUTLHLeT CoHFlw euerfed) (pesTenlfleningssT, HlenMma6T
MDD 2 SH&6T UMM LSFLULLL LUTFeneUenll 2 (HeU T ESH60

6USVI6UMETT  LOMIEI6VD 6  6usvieumesT CHEFHMS 2 (HEUTHGHSIMG| 6T6TLIENS
SImEsfES, OCleTLFEHlwmeT glilienlulley  MHlEVHISEHLETTTET &L L6enLLIL
QBT (PWHF&EET HMILD 6uLBl(LPENMEST LP6VLD Fal (hmey Fal LTl Flenw eusmyLLg)
OhSTeuT(H& S LMiG6IeL HTFTmISESSH 6T (PH0L(HS Sl Lmisemn6T (P6eTCImLsHen
GOILNLLULL uEGSlseafley CummHeTTSTT WsSHlEemsT WMHMID GlsmsTensulsy Cauelw
UT&ISTLILN6T [HeV6iTSH6T 6(halSlenestTsaLILhleuens 2 miH Cl&FigHen

22.  eumsmerll Lighah 19498, NetTeu(HLD Famm|&H6Men 6T 2 6srenLowisuen?

(A)

(B)
(©)
D)

GUMBISTEITD LMHMID HeMS GRLlgll LiGHS6rlev 2 sworey smesfl 2 mugSluiley GlL(mLD
gifley

2 _eworalest ellemevuNsv (HMILINLEHSHES S SIFILIL

uesoTeis8 61968 miss (ETHL6IT 6LILN (Hemasuiley aNleusmi sasdlufisv HMlw 2 wifey

2 flemw Comevedl, e(h BHL(HEE SHlEOLESSFalgW ClUMHLESET WwHMID Caemneuserlst

wrHml sL(hsefler Ceafliy Gsmmeuns GMSSMSI, Heuf Coiey ClEwiw &b D
2 6vor(h)

23. @nsluralsy LgenwL LTLd :

(1) Gargienw efensTdgamnsy sewflgwms GobLbHSSH WS, @ HULNID CBsy CHEHHLEMLHSE

(1) eiFHswrsl uwaTUHSSLILHID LU &FHE61smev60 a6

(i11) HYV efNeng s Hlevssly Bifl6ir 2 sbhg LILITUT(H

(iv) efeusmws glemMueL HHBNES FLo&G|6ULO6TENLD

LN63T6U (HEUETEUM N6V 675 &FIf1?
A) simersgIbd Fifl
B)  ©), (), () A, (1v) peum

©
D)

(i) wpmutd (1) &; (i) @b (v) Seumy
(i), (i), (v) o9 (i) Soumy

-11-
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24. Consider the following Centrally Sponsored Schemes in India :
(1) Total Sanitation Campaign
(1) Beti Bachao Beti Padao
(111) National Rural Health Mission
(iv) Ayushman Bharat

The chronological sequence of these schemes is given by

A) @, @), (), (v) B) (1), @), (1), (v)
© @, (i), (v), @) D) @), @), v), (1)

25. The main reasons behind partial failure of land reform in Indian were :
(1) Lack of reliable records of land ownership
(1) Lack of political will in many states
(111) Lack of financial support to carry out the monitoring and evaluation

(iv) Lack of blue print which meant bureaucrats were not sure what to do and how
to do

Which of these are not true?
@ @ B) (iv)
(C) Both (1) and @(@v) (D) Both (i1) and (iv)

26. Which of the following statements are wrong for Deindustrialization in India under the
British rule?

(A) The intensity of deindustrialization was critical as reflected by the figure that
India produced about 25 percent of world industrial output in 1750, which fell
to only 2 percent by 1900

(B) Initially this was triggered by falling down of the Mughal Empire creating
supply side shocks.

(C) India’s trade surplus in textile was not prudently utilized by the mill owners

(D) The British administration did not extend the support that artisans used to
receive from the erstwhile royal courts across Indian subcontinent

27. Indian Rupee is convertible at :

(A) Only current account

(B) Only capital account

(C) Both current and capital account
(D) Neither current, nor capital account
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@nsHlwmaNsy NetTeu(md WHSIW HiSlWHe S LEISen6rTs Souesflu|misser :

(1) Qures FerHTy NFEFFTTD

(1)) Guly ugerGeur GuLiy LULTGeur

(111) GCapHlw earys HaTHMY Lieswi

(v) S WeuLomesT LMY

@ns S Lmsefler srevelfleng Lig euprisLLhHS DS
A) @, @), (), (v) B) (1), @), (1), (v)
©  ®, (1), (v), @) D) (1), @), v), (1)

@nslwralsv Hlevg FFSH(HSHELD ereTey CHmevallumm (PEEIL &TT6euTHISET :

@)  Blev 2 flenwuNest HOLISLTEST LIKHeYH6T Z6V6VTenLo

(1)  wev wrHlevEIGETlEL THlWwev 69 (FHLILILS6tTENLD

(i11) sevvTamesvilliLy WMHMID WEHILST L CmelsTsTaugsnaTeT HH 2 HaNufsTenLo

@iv) yeems Ol @eveumsHTEL  eTetTesT  GQlEFWleug, Tl QEFlleug)  eTesTm)
SIS BMTUTSESHSHH DG 65 flwealsuemnsu

@eumM6L 675 2 6TITERLOWISV6Y :
A @ B) (v)
© () wpmud (iv) @reim@id D) (i) wpmid (iv) @resm@id

Niflligeny g uflest Sp @HSHWTaled GHTHlLLWITEHESVISEGL LN6ToU(HLD 6THE HM&HEnS
Seummesrg)?
(A) 1750 syib oy eveTigen 2 608 GFMHlevglenm 2 HUSEH N6 25 sHaNHgsems @bHwT
2 MuGHH CFLSS!, @& 1900 @sv 2 s5aEl5wMes WL(HGW eSPsFFHmLBSHSI.

B) orpusHey @& wseorwl  GuppHer  efpsFlwmey HresoTLULILLE),
eNBHCWITEH6VS T8 (6THE S NS TEFSHene6T 2 (HeuTsH SIS

©) @bdHureer meyefl eufsss 2 uflow W6y o flenwwmeriesT aGCeuds gL e
LwestL (H& & 696v6m6v

D) @BHwS &iMETEHSHETITLLD (P(PEUGID 2 6T6T LIenpW T8 HHeTmhiGaNsy @) ([hbHs)
e &H6l6m6uT(ShT&H6T GlLMM Sy B Teneu LNflLiges HlFeursd eupnisallsusney

QbW UL LTHDSSSES) :
A)  BLUYS HemrsE L (HID
B) epeusenTs Hevws S WL(HIGW
(C)  BLULY DHMID EPEVSETT S68TE: (S, @) T68oT(HLD
(D)  BLUL S160608) ePEVGET B6B8TE (& @)6VED6V

-13-
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28. According to Periodic Labour Force Survey by MoSPI, Government of India, Female
Labour Force Participation Rate (FLFPR) followed the following trend :

(A)
(B)

(©)

D)

It fell in 2012—22 compared to 2018-18 in both rural and urban sectors

It increased in 2012—-22 compared to 2018-18 in rural sector, but fell in urban
sector
It increased in 2012—22 compared to 2018-18 in urban sector, but fell in rural
sector

It increased in 2012—22 compared to 2018-18 in both rural and urban sectors

29. Consider the Lists I and II and choose the right matching option :

List I List IT
(1) Arvind Panagariya (1) Niti Ayog
(1) M.S. Swaminathan (2) Finance Commission
(111) Verghese Kurien (3)  Green Revolution
(iv) B.V.R. Subramanyam (4)  White Revolution

The right match is :

(A)
(B)

(©
D)

®)-(1), a1)-(2), (D-(3), (v)-(4)
®)-(4), a1)-@3), (1)-(1), (v)-(2)
®)-(1), a1)-@3), (1)-(2), (v)-(4)
1)-(2), a1)-(3), (i)-(4), (v)-(1)

30. The burden of diseases in deaths in India currently follows which of the following

patters?

(A)

(B)

(©
D)

The burden of communicable diseases is higher than that of the

non-communicable diseases

The burden of communicable diseases i1s lower than that of the

non-communicable diseases
The burden of accidents and suicides is the highest

The burden of communicable diseases i1s rising and that of the

non-communicable diseases is falling in recent past

-14-
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28. @nHwu yrerrssHst MoSPI @etr smeuwenm Qs mflevmsTy LisnL &esrs 68 [HLI6bTLLy, GLIesT
Qgmflevmery LkGsML eNf g (FLFPR) Nstreumd Cumrsenal NetummISma :

(A)

(B)

©)

D)

2018-18 2 L6 euHLGUTE 2012-22 @ev Srmwlym WWMMID BSFULHMDES
&emM&6T60 (GEOMHSIETETSI

&Srmoluymrigssfley 2018-18 2 et uiHwCurgs 2012-22 @6 s5sfssg),
SLETME HEHTLLDS SIDDUIE GMDHSIETETS)

BaFULMS Sleomuiley 2018-18 2 Ler uGIbLCUTE 2012-22 @6 SsfE55),
SYLEUTTEL EFTOLILME SIenMUN6D (HEMMIHSI6TETS)

@& 2018-18 2 Ler euUIHILCUTE 2012-22 @60 Slymwlym wOHMID BSFUILMES
slenmaefley H&fGHgieTers)

29. ulywev I ommid II 98 smssHlev GsmesnT(h sflwmeT QUTHSHSH5m&S CaHTey ClEwiweayL :

Ul guwisv I ulgwsv IT

(i) owedibs LamsTAwn (1) HH 2yCuss
(11)  eTLD.6T6N. Gr6UMLAN BT 6T (2) & g ememTwiD
(1) euFden @ Mwesr (3) u&emwL Yyl
1v) 19.e9.e7. sliywewflwib (4) Qeuestremiols Y&
gflumest GlUMHSSLD :

A)  ®©-1), @)-2), (1)-3), (v)-(4)

B)  ©)-(4), ()-3), (i1)-(1), iv)-(2)

©  ®-(1), ()-3), (ii)-(2), (iv)-(4)

D) ®-©2), @)-3), (11)-(4), (v)-(1)

30. @ndHwuresv @mLseflsv gHubL Crriisefler semw HHCUTSH HLPsHaEsTLUMNMIE Teng Ll

NestumHmIfma?
A) QsmHmsFayw Crmiserfler seaw Crreow el GHTHMTEH CHTISST HH&WwTsH
2 6iTemg)
B) QsmHmsFayw Crmissflsr senw CrTeow el CQsTHMTsH CHTUISET GmMmeuTs
2 6iT6mg)
(C)  eNuGgEISHEET HMID HHOHTENEVSHEIT6HT GenLD HHSLOMS 2 6T6TE)
D) Qsmom GCrmusefler semw HHsFHH umHEDE FBU HTVLTE CFHTHMOTS

CrmS6T (Genmbg) 61 (6T mesT

-15-
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31.

32.

33.

Consider the following statements with regard to Lakhpati Didi Scheme :
(1) The scheme is primarily concerned with strengthening the position of women in

Cooperatives

(11) Lakhpati Margadarshika is the guiding document that details various aspects of

the scheme

(i11) It involves identification of Potential Lakhpati Didis and proving them exposure to

various Livelihood Models

Which of the above statement(s) are incorrect?
(A) (@) only (B) (@) and (i1) only
(C) (i1) and (ii1) only D) @), (1) and (i11)

Which of the following statement is correct as per the recently released All India Rural
Financial Inclusion Survey (NAFIS) for 2021-22 by NABARD?

(A) There was a rise in financial savings and the major contributors were the

non-agricultural households

(B) Kisan Credit Card emerged as a key tool for promoting financial inclusion in

rural agriculture sector

(C) A decline in financial literacy was observed in both rural and semi-urban

areas

(D) An increasing trend was observed in average monthly income of rural
households while there was a decreasing trend in average monthly

expenditure

Consider the following description :

“This scheme attempts to enhance livelihood security of rural household by providing
guaranteed wage employment in a financial year for at least 100 days. It also aims to

strengthen Panchayat Raj Institutions through a bottom up approach.”
The above description fits for which of the following scheme?

(A) National Social Assistance Programme (NSAP)

(B) Sansad Adarsh Gram Yojana (SAGY)

(C) MGNREGA

(D) National Rural Livelihood Mission
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V&US HF SILLLD CHTLILTS L6sTeU(HLD NI)&60 & 5H6N6ITE 86160 W|mIS6T :

1) @sHLd (WosreoWTE  Falbhime BHlmeueThisefley  Guetseflest  Hlemsveniu
auVILIL(HSHGI6USH 6L Si&&HemM Cl&mesoT(hleTomg)

(1) evsLS wrTFsEsTaf&ET aeTUgl HLLEH 6T LLCeuM SbaFhisemer eNleufleHEGn uflaTily
24,6U6TTLOT(GHLD

(1) @& ersHwLTET vELS  ShHEemer  eMLWTETD SHetor(H), LVGeUM|  EUTLPEUTSTI
&l EHeE SHeuFseT CleusfliiLi(heuens HlemLiLliLiens 2 sTerLgélwg)

CGev 2 6iTem Fammis6ifley 6T& Heummesrg?
A) @ wipn B) @) wpmuo (1) wLE
(©) (i) wibmutd (iii) oL Qi @) @), (i) whmud (iii)

BUTF(H eweud 2021-22 gyib sy etorigmamest LSSV GleuslulLiLliL &l6v @bSlw SlFmoLiLm
FlF) 2 66T &8 Hewrs6lsHILINeT (NAFLS) Ly 1NetTeumd onfsensasefley stg Fflwmerg)?

A)  HHg Cailliiey 2 wiFey gHULLE LHMID ONCUFTWLD HEV6VTS (& HIDUMIGET (P&HEWw
LIS LILITET T 861 o4,6u1)

B) d&emer SOyl sri@h Srmolym eNeusTwsd Hemmuiley HiF 2 6TeTLES5H05
GbuUhHSsIUSNETET (PHSIW SHNWTS 2 (HoleU[H &S

(C) Agmouym womib urh BaEFUYD uGHselles BHE  sealwmlalsy  Fifley
STeoTLLILLG)

D) #Agmoliym GHburisefler grmefl Lrg aumHLTETHSH D NHHNESH eUmHD CUTSHE,
sreoTlLLLG| 6 sowd Frrsfl wreThHEHT CFeualearmgsflsd Gsmmunw CuTssE,
QobHss

LetToU(HLD 6N 6ITESE6M &8 8616511 HISH6IT :

‘@Bss HLLD @ HEWTEysd GommbsUlsd 100 BILsERSE 2 S5HTEUTHOMET 2eTHlil
GousmeveUmILIEnL 6ULPMIEGH6EUSET CLP6VLD SITTLLM (& (HDUMISET6T eUTLPEUTSTT LITSISTLenL

Cubuhss WUHHASSIMS. SPLLL HTDIGWPND EPID LIEHFTWSSH TTe HlmI6UeTmhISene6m
ausYILILI(hSGleuemB WD @& CHTEHSLTSHS G\&TeT(HeTerg)” .

GGev 2 6iTerr 6f6T& & LD LN6sToU(HLD S LMIG6T6 6THM @G QUM HHGID?
Q) GCaaAlw seps 2 HeNs HILLD (NSAP)
(B) &getres usieg Hymb Curemestm (SAGY)
(C) MGNREGA
(D) CadAlw Aymwliym eumPeuTSTy Liswsf]
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34.

35.

36.

317.

38.

Consider the following statements about Mission Antyodaya :

1 It aims to ensure effective use of resources through convergence of various
Government Schemes with Gram Panchayats

(1) It strives to realise the vision of Poverty-free India by 2022-23

(111) It also mandates conducting an annual survey on measurable outcomes at Gram
Panchayat level to monitor the progress in the development process across rural
areas.

Which of the above statement(s) are correct?
(A) (1) and (i1) only (B) (1) and (iii) only
(C) (ii1) only D) (1), (a1) and (ii1)

Which of the following interventions are part of Pradhan Mantri Janjati Adivasi Nyaya
Maha Abhiyan (PM-JANMAN)?

(1) PRI Strengthening

(1) Road infrastructure

(111) Construction of hostels

(iv) Installation of Mobile Towers

(v)  Focus on spread of financial literacy

(vi) Construction of Anganwadi Centres
@)  ®, @), @v), (v) B) ), (1), @), (v)
€) (1), (i), @v), (vi) D) @, @), (1), (vi)

The People’s Campaign for Decentralised Planning was launched in 1996 in the Indian
States of :

(A) Tamil Nadu (B) Bihar
(C) Karnataka (D) Kerala

Who regarded the Indian Poverty Line as a Destitution Line?
(A) Amartya Sen (B) Suresh Tendulkar

(C) Jean Dreze (D) Rangarajan

Which of the following is not an indicator to measure Multidimensional Poverty Index
MPI)?

(A) Cooking Fuel (B) Sanitation
(C) Electricity (D) Employment status
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35.

36.

317.

38.

156/2024-T

66T HHSCWTHWT LHMIW LN6sToU(HLD NI1&65 855 6M6ITE 8616511 MIS6IT :

(1)  uevGeum STFTRIE SHLLBIGENET SFTD  LEHFTWSSISHEHLET @enTLILSET  eLH6ILD
susTRIGEneT  HimUL  UweTubhSgleuens 2mi$ Celaueams @& CrTessLTss
Clamesor(heiTers).

(1) 2022-238@6T eumienuNEV6VT @HEWIT 6T65TM LITTemEU6n I BESTeUTSHS (PUDF&HHMG.

(1) &Aymol LGH ST (PPeUGID eusTTES QFWEWEnMUNET (PETEETHMEHENSHE & 6681 STewsi1585,
&gmo  uEhFETWSHS  Seralley el S aalgwl  ellememeysksiflest  6g&  euHLTHSIT
H6ttTE 015 (HILIenL BLESHIOUMSW LD @1&| SLLTWLILHSSHISE M.

G@ev 2_6iTerm FammIs6iflev 618 Fiflwimesrg)?

A) @) wHmid (11) L Hb B) @) womibd (i1i) L HID
(C)  (ii1) wiGid D) ®, (i) Hmub (i)

NetTeumd Hemevui(hiserflev ergl LNsmesT WHS weTemd Hleurdl Hlwmw wam HLNwmesflesr
(PM-JANMAN) u@ggwmg?
1) PRI ausniin(psg1560
(1) &Tenev 2 6THL LML
(1) sREWL aNHH 6T HL(HHD
(iv) OrenLY LeuFeHemerT Hlmieyse0
(v)  B&) sevallwmleflesr LiTeL6ed6h SHeu6TLD ClF6y|SEI560
(V)  orIsetTeuly 6nLWIBISET SL(H&60
@A) @, @), @), (v) B) (D), (i), (v), (v)
(€)@, (1), (iv), (vi) D) ®, G), (1), (vi)

ureueumSsLILLL  SLLBILe&ESETeT WwassT Nygemyb 1996 @ev @béHw  wrblevmiserflsy
CBTLRISIULLE) !

4)  sBLBTE B) Semy
(C) sFmBTLEST D) GCsryerm

@nSHIW eumienns CHTLeNL 62(F uMIeNLE: CHTLLTSE &(HSWeuy Wry?
A)  owisEWT Clgsr (B) &Creiy QLsstT(HVST
(C)  gBetr 9 Gryeiv (D) npruspmregssr

Netreu(peueTeummley ergl wev  Uflomesst eumienws Gmuiienr (MPI) siemeSHleugmsemest
GMSTLIgWITE @)evenen?

(A)  Femwwey erHQUIM 6T B) &ersmrD
(C) Mersmyd (D) Geusmev Hlemev
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39. Which of these do not constitute the primary functions of NABARD?

(A) To serve as an apex financing agency for the institutions providing
investment and production credit for promoting development activities in

rural and semi — urban areas

(B) Incorporating measures towards institution building for improving absorptive
capacity of the credit delivery system including monitoring, formulation of

rehabilitation schemes and training of personnel

(C) To coordinate the rural financing activities of all institutions engaged in
developmental work at the field level and liaison with the Government of
India, the state governments, the Reserve Bank and other national level

Institutions concerned with policy formulation

(D) Undertaking monitoring and evaluation of projects refinanced by it

40. Consider the following :

(1) Regional Rural Banks (1) Work on “no profit, no loss” basis

(11) Cooperative Banks (2) Can issue debit cards but not credit cards
(i11) Commercial Banks (3) Created for profit motive

(iv) Payment Banks (4) Set up by a Public Sector Bank

Select the correct option from the following :
A ©-(4), ()-1), (i)-(3), (v)-(2)
B)  ©-2), @)-4), (11)-3), av)-(1)
©  ®©-©2), @-Q), (11)-3), (v)-(4)
D) ®-Q), ()-(3), (11)-(4), (v)-(2)

41. Big- Push Theory has been proposed by?
(A) Amartya Sen (B) Gunnar Myrdal

(C) Rosenstein-Rodan (D) P.C. Mahalanobis
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39. pumy(® suriHuNest WaesTemo ClFwevLIT(hs6iflev 6T @)6vensv?

(A)

(B)

©

D)

Srmolym  WLMMID  HemF  BSFULDRISE)  eueTiEE  HLEUYSHNSHSHEN6T
oo gGLUILSNSETE (PSH5e5(h WMMID 2 MUSSE SL6T eUPMHIGLD HMIEI6TT RIS EHSE
2wy hidlwefliy hlmieuesTiomas Lisssflwimmm)gev

&6BoTST6usfILIL, LOM|6UTLPEY S SLLisener 2 (IH6UITE (&S 6V LMHMILD
uessflwmeTFas@EmesEGL LuNnd SeflgsHer 2 erafllL sLer aNbICWTsS HemwLiesr
2 MiEghsld  Smemest  CwbUbHSHIUSHSTET  HmieusTss  SLLEOWLILNMST6sT
L6860 SHE06T (Q)65)650T 5560

&6 ojemalley euemyEHL  Uetsflsefley  FHILL(HeTem  SiemestSH g HlmieuesTriserlsor
Srmoluym HHwseN BHLEIYSHMSHENET Q(HhRIS eSS, @QbHSHW HTs, wWmHley
SIT&S6T, flFFeu eumdl LHMID ClETeTens 2 (HeuTsHSSHSHIL6T CeTLILemLw Cadlw
Siemaflevmest HlMI6U6TEISEHL6T C1&TLTLILI(HEE5H60

o6 epeuld  mbSlwefliy Gewwiule Sl rigesfler sevorsmessfllL WwMHMID
LEHULEH ClEwigsv

40. Nedreu(meusTELMHENME: SH6L6DI I MHISET :

D)  OrrpHw Srmoliym eurdest (1)  “eumud @evemev, HEELLD @eveney” eTetTm

SigliLiemLuglev Glewisou(h&lestmest

(1) salbHmey euradssT (2) QLY &TF{HISHEN6T EULPMRIGEVTLD Y 68TTeV S0\ Tig L
ST (HSEM6IT EULPMIS (LPIUITE|

(111) euewwlla suraidlseir (3) @evru CBHTEHSHMETS 2 (HeUTHHLILILLEM6

(1v) GublessrL surbifl g6 (4) QuIEISHIMM URIEWITEL SeMSHSLILILLG|

YesTeu(meuesTaUM MO (HH& Fflwimet aN(HLLISMSHS C&THoSHHISSLW :

(A)
(B)
©)
D)

®)-(4), @)-(1), (1D-(3), (v)-(2)
®)-(2), (i)-(4), (11)-(3), (iv)-(1)
®-(2), ()-(1), (1)-(3), (iv)-(4)
®)-(1), G1)-@3), (i)-(4), (v)-(2)

41. 9N&-yex Hwifl wrymey wesrelomflwiidLg)?

(A)
(©)

SILFSHHWIT G\&F6dT (B) (&streTiy OIFLEV

GrrolFstreiven LedT-GrmLesT D) 9.&A. wammeuGerrmiNeiv
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42.

43.

44.

45.

Which items are not covered under Public Distribution System in India?
(A) Rice (B) Wheat

(C) Kerosene (D) Bajra

Consider the following statements about Micro Finance in India :

(1) Microfinance is a small scale financial intermediation inclusive of savings, credit,

insurance, business services and technical support provided to the needy borrower.

(1) The trust of the micro finance initiative is to channelize production and
consumption credit in multiple doses based on the absorption capacity of the

prospective borrower.

(1) It has evolved from ‘charity-based’ to ‘thrift-based” and finally to ‘trust and credit

worthiness model’.

(iv) India adopted the concept of micro finance from Bangladesh.

Which of these statement(s) is/are correct?
(A) (@), (i1) and (iii) only (B) (i), (iii) and (iv) only
(C) (@), (ii1) and (iv) only D) (@), (1), (1ii) and (iv)

Which of the following committees has recommended for the introduction of three tier

structure of PRI for the first time?

(A) Ashok Mehta Committee (B) Balwant Rai Mehta Committee
(C) Gadgil Committee (D) L.M. Singvi Committee

Consider the following statements about Digi Saksham :
(1) Itis ajoint initiative by Labour Ministry and Microsoft India
(1) It aims to enhance the employability of youth
(111) The scheme particularly focuses on rural areas
(A) (1) and (i1) only B) (@) only
(C) (i1) and (iii) only (D) @), (1) and (ii1)
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@nHwmaNsv erHelSHS ClUMBLEET GlLmg eNHCW TS WenmuNest S @svensy?
A) oA (B) Gamglenw
(C)  wevrQ6TBTETITG 6TOTLL D) ugymr

@hHWTaN6L 6nL&EGTT coshLIGHTTETEN LMWL LN6ITEU(HLD HM) 860 & 8606 &6L65TIU|MhIS6T :

1)  HAmH& erettug) GO, sL6T, HTLNEEH), cusllas CaeneussT wWHMID CHemeuliLI(hHD &6t
6UMMRIGLIO(HEE, UPRISLLIHIL GCSTHVRILL UHTe| HUHlaimenm 2 6TeTLSHSIW  6(h
HMlw sjemaflevmest Bl @enLHlensy Sy &Lb.

(1) eumrisTey SL6T eummiGLeufler 2 MEhasHsv Hmesfler SjgliLiemLuey 2 HUGSE HMILD
BISTEYS SHLEMET L6V 6mes6rfley Gleass01Cs enwsCTT soenLeTmTerTsny (PWmeFluest
BLOLN&60 & WITG)LD.

(1) @& ‘Osmewr@h SglinenLuevmes ereTUHEON(HHS ‘FoHser SigliLenLuNevmesr LOMHMILD
@mIH WS BUOLNGNS LOHMILD SLEIT &GS LTHIf eTerT 2 (HeumHlw6Terg).
(1v) uriseTTCHafled @HHS  MWECTT  coemLIETTTETON  6T6dTD  HHSHMS @ bHHwT

FHMIS6\STETITL ).

@bss sanmserflev (S6T) erg) Fflwmers)?
A) (), (i) wpoid (i) wLED B) (i), (i) wHoid (iv) L Gid
© (), (iii) wppd (iv) i G D) @), i), (i) wpm (v)

wasTrweopwres PRI @er cpsitm oihsE sLLemwlienu HMwWaslubSsieusn@ LNesremn
THSE &1 LfbSIemTSsieTers:?

D) oCems CuiHT (& 1W (B) usveums pmi CLEST &L

(C) &Ly G (D) L.M. Arued @ w

1983 FFanulDd LIHMIW LI6STEL(HLD HM)E6NSHEHEM6ITE &ev6si| WL hBIS6T :

1) @& Csmflevrery SenwFFHD LOHMID EOLHCTTEFTUL @HHWT YPHweuMMleT Fal(h
PWHAWIMELD

(1) @& @emerEpissefls Couensveumiitienu CLESSHIEUENS CHTHSLLMSE 68 TN (H6T6em)
(i) @sHILLD GMILuTs HFmwlymhisefley HeussTd CFaISHSHISME

(&) () wpouo (1) L Eo B) @ wipw

(C) (i1) womid (i11) L HID D) (@), (1) wHmyw (iii)
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46.

47.

48.

Which of the following statement is/are correct about Gramasabha?
(1) Provide a platform for citizen participation in local governance
(1) Positively influence the Gram Panchayat’s service delivery

(i11) Participation is uneven among different Indian states, men and women, and social

groups
(A) Only (11) and (i11) (B) Only (1) and (i1)
(C) All of the above (1), (i1) and (iii) (D) Only (1) and (iii)

Successfully developing a democratic and non-violent India first involves re- establishing
the old panchayat system, where the exercise of power “must begin at the bottom [and
where] each village will be a republic” that will have full powers as part of a united

federal India. This is envisioned by :
(A) Jawaharlal Nehru (B) Mahatma Gandhi
(C) Dr.B.R. Ambedkar (D) Subhas Chandra Bose

Match the following and choose the correct option :

Column A Column B
(Terms) (Definitions/Descriptions)
(1) Gram Swaraj (1) A series of constitutional reforms intended to

empower Panchayats

(1) 73" Amendment 2) The process of transferring power and authority

from central or state governments to local

governments
(111) Decentralisation 3) Village self-rule
(iv) Panchayati Raj (4) The third tier of government at the sub-state
level
A)  ®-3), )-(1), (11)-(2), Av)-(4) B ©-3), ()-(4), (111)-(2), @v)-(1)
©)  ©-(2), (1)-(1), (i11)-(4), (v)-(3) D) ®©-3), ()-(2), (111)-(1), (iv)-(4)
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46.

47.
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Hrrwsenu LD NeTe(HLD Fammiserfley erg) Fflwmera)?
(1) 2 6TeemT HFUTHHH) (Hlg0&HEH6T LBICHDHUSDETET SH6ITHeNnd 6LULPMHI(E)SH60
(1)  Hgmw uEhaTwSH et Caensu suPrIHE06H CHTLEMMWITET HTHHHMS JDOLI[HSSIE MG
(111) OeusuGoum @HSHW  LAHEVRIGET, PEBTHET LMMID  CUETITSHST MM FPS
GWsssfleLCw LRIGsmHL FWLWLMHMS
(A) (1) womb (1il) wL(HWb
B) @ whoid (i1) oL Gid
(C) CuwGev 2 66T SiemeTSHHID (1), (11) HmIb (1il)
D) @) womid (1il) LLEHIWD

SOETIHITILIS LMHMID eUeTWenMWMM @ hHwmensy CleumMmsImes eusmyLLS6L (PSHeSley Lisnpwl
LEpFTWS S| (penmenil Wesor(hib wmiFrsmwoliy CFwwGeussrhHib. ki@ HsTrl NFGwmsd

“olgl LSS [HHG CHTLREIE Coustr(Hib [LHMID] ¢eeuGleum(h SFTLWD GHLYWTFTS @)\(HEEW
38| RTMILLL FalLrld @bHwmalleT @h LEGHWTS (P HHSTTRISN6TS 6&T6soTLy (HG)LD.
©leng smLIEn6sT ClFWIGH6U :

A)  meuamijeumsy Cm(H (B) wasrswTsTHSE

(C) vLméLy 9.euF. SCuUsSST D) sumey sHHF Cumsiv

esTou(HeUeTTOUMEDMLI ClUMHSS), Fflwmer aN(HLLSMSHS CHTHOSHHISHSL :

CmHsuflens A CmHeuflens B
(eNFHemmaes6iT) (suemywenma6T/ 6N 61T e &hig6TT)
@)  Hgmbd eveurmey (1) SITHWevemLoLiL] (1 A0 Q& mesoTL QgL
LI(EhFTWSH S8 (6TH (G S STITLD
(1) 73eug H(HSSWD (2) S ST LHMILD HHSTTHENS LTHMID CIFWEH(LPeHM

LHEHIW  6LeVG MBI  HFFTMRISMIS6 60 (HHEI
2 _6ITEETH T ST EFMTHRIS(ETHS(S LOTMMIEUS)

(111) UTeUEVT&HSLD 3) &lm sl
(iv) uERFTWSHG TTED (4)  slemevr IHlEL S6TONCL TFTRIBSHSET CLPEITMDTELS]
AHEE
A ®-3), ()-), (iD)-(2), (v)-(4)
B)  ©-3), ()-(4), 11)-(2), @v)-(1)
©)  ®-@), ()-), (i)-(4), (v)-3)
D) ®-3), (W-(2), (1)-(1), (1v)-(4)
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49. What prompted the British administration to consider administrative decentralization in

pre-independent India?
(A) Economic growth
(B) Political stability
(C) Severe financial pressures after the 1857 mutiny

(D) Social unrest

50. The primary purpose of Article 243-T is to :
(A) Ensure representation of all sections of society in municipalities
(B) Promote economic development in urban areas
(C) Establish a system of urban governance

(D) Centralize urban administration

51. What is the main function of the Kerala Institute of Local Administration?
(A) Document best practices on local governance for dissemination
(B) Implementing poverty alleviation programs
(C) Promoting women’s empowerment

(D) Educational development

52. Which of the following options accurately represents the number of local self-

governments in Kerala?

(A) 941 Grama Panchayats; 150 Block Panchayats; 14 District Panchayats;

84 Municipalities; 5 Municipal Corporations

(B) 941 Grama Panchayats; 152 Block Panchayats; 14 District Panchayats;

86 Municipalities; 5 Municipal Corporations

(C) 931 Grama Panchayats; 150 Block Panchayats; 12 District Panchayats;

87 Municipalities; 6 Municipal Corporations

(D) 941 Grama Panchayats; 152 Block Panchayats; 14 District Panchayats;

87 Municipalities; 6 Municipal Corporations

A -26-
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49. &H5BSTSEMEG WPHMSW @HSHWTalley BIFeUTSL LFeUsTES560858 &(HEH 60 Glamser LNiflL Lg%

Byeunese 55 STy 61517
A)  QummerTsTy eusTES
B) sirflwsv stvdlrgsestenio

(©
D)

1857 s6v&5 5 M (&L LNM(& &[Hlenwmest Hl& (D& S MmS6T

Feps iemLSuIetTemLD

50. 9Nifley 243-T @etr (W 68T6MLD CHTEHESLD :

(A)

(B)

(©)
D)

BaITL 66y FepssHler HenersgIl NifleGerifls LNTHHSHSH6uSMSUD 2 mIH

ClEwgHev

B&FULMEISET60 QILIM(HETTSTT eUeTF&FenI 268868560

BSTLLM BIFeUTS SiemipLienLl [hm|6]sH60

B&FTULM BlTeUTESmg 6nWLILI(HSSI5H60

51. Gayem 2 6Teah T HFoUTSHSH 6T (PSHSEIW ClFwieoUT(h eredTent?

(A)
(B)
©)
D)

LITEUS)| &8 IT6TT 2_6TesTHIT HlT6UME & S6tT FIMHS HEOL(LPEOMSHEN6IT By 61688TLILI(H & 518560

sum|enLD eLfILIL] S L MEiGHeneT GlawsuLI(h &g &6V
GCluetaTs6T HH SIS HEme0 268565560

56061 eueTFE&HF

52. Memeumeusstoummley 618 CoHremmallsy o 6iTeT 2 6TEETHT  &rlW-ST&-&6TTl6T  eTetoT6n0f | SH60)85 60 W

&16vedwions NFHlLeSSHEmE)?
A) 941 &Agmw  uEpETWSEISGET; 150 QTGS
LEhEFTWSSI&6T; 84 BeETTLESET; 5 LMHSTTLES6T
B) 941 HAgmo  uEpFTWSF ST, 152 CamEH
LIEhETWSG186TT; 86 BETTLE&6T; 5 MBS TTLEg6T
(C) 931 &gmw  uEpFTWHSHISET; 150  CgmEH
LEhEFTWSESI86T; 87 maTTLES6T; 6 LTHSTTLE &6
(D) 941 &gmw  uEFTWHSHST;, 152 CgmESH

LEhEFTWSSI&6T; 87 meTTLESET; 6 LMTHSTTLES6T
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53.

54.

55.

The

Twelfth Schedule which deals with the responsibilities of Municipalities

1s related to :

(A) Fundamental Rights

(B) Directive Principles of State Policy
(C) Concurrent List

(D) State List

Match the following and choose the correct option :

()

(i1)

(111)

(iv)

Column A Column B
(Commission/ Committee) (Recommendation)

Balwantrai Mehta Commission (D) The Block Development Office (BDO)
should assume broad powers for
planning, implementing and monitoring
rural development programmes

Asoka Mehta Committee 2) Implement the Panchayat structure at
district and block (Samithi) levels

G.V.K. Rao Committee 3) Limited revenue raising powers for
Panchayats and the establishment of
State Panchayati Raj Finance
Corporations

K. Santhanam Committee 4) The district serves as the administrative
unit in the PRI structure

A ©-B), ()-(), (11)-(2), (v)-(4)
B)  ©-2), (@)-4), (11)-(1), @v)-3)
©  ®©-©2), @-(Q1), (11)-3), @v)-(4)
D) ®-3), ()-(4), (11)-(2), (v)-(1)

Which of the following statement is/are correct about decentralized government in India?

)

(i1)
(iii)
(iv)

Mandatory elections every five years

Reservation of seats for women and disadvantaged groups

Centralized planning and implementation of development projects
Provision of Grama Sabha for citizen participation

(A) Only (i1) and (ii1) (B) Only (1) and (11)

(C) Only (1), (11) and (ii1) (D) Only (1), (1) and (iv)
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Ba&TTLE &6 6T QlUTMILIL|&E06TE 608 WIT(EHLD LIGT6s I T6soTLTeUS| L L6U6n6TT CISTLTL6nLWIS] ©

(A)  oliuenL 2 flenwssr
(B) wrhlevs Qamerensuiest euflaml(Hasy Camiumbaser
(C) setraresrl UL IgWiey

(D)  wrBlevls LLgwiey

WlesTeu(meuesTeumenmLI GlLmm&HS), Fiflwmest allenLenw CaIHO\SHHISSE :

(1)

(11)

(iii)

(iv)

QmHeuflens A CmHeuflens B
(sileer G W) Libgien)
LI6V6UTHS T CLOGHSHT SLEl6ek6dT (1) Qsmred GCuwburli@h eeusvsnd (BDO)

UTHS HS&TTMRISEN6T M8 Ceuetor(hid 2emys
susTi&Fls  SlLmseners  SILL(HISH6V,
ClEwsLLI(HS515H6V LDHMILD &650TST6ss1158560

SICaFTaT CEHST SO I (2)  wmeulLw MWD QTGS (FLOH) Hlensvaer
L(EHFTWS S| &LLemLIenLI @&
ClFwsvLI(hlS &I

o3l.e0.Cas. el sL61L 1y 3)  uEpETWSGIHET WOMID WIHE LEHFTWSHS
grR B BmeueThisener  Blimieysen
eUERTWIM| S LILLL 6 (H6U L Sy (Hib
SIS BMTRISENET HM]615H60

Gs. shgmesTd S5 1Y (4) wmeulLwrerg PRI slLenwlifey BHlysurs

SIV&TS GlFwsLHiHmS)
A)  ®-3), ()-(D), (iiD)-(2), iv)-(4)
B)  ®©-(2), 1)-4), (11)-(1), (v)-(3)
©) ®-2), @-Q), (i)-(3), @v)-(4)
D) ®-G), @)-4), (1)-(2), (v)-(1)

@nHWTaNsy LFeueuTEHSILLL HTFTRISSMSL LMW N6eTeU(HLD Famm|gefls erg) Fflwmers)?

®

(i)
(111)
(iv)

LHSTET (OS5 EHEES RHUDD SLLTLS CHTSH60

CluestTE6T LHMILD LNGTHMRISIW (5 (L& (ETHE S QL 2815S([H

emWLHSSLIULL SILLBIL6V MM Cburl (hg Sl LmisemeT 6lFweoL(H&EIs560
(&l9LD&&6T LRIGCHEDHNDHSTS ST Femul mUm(h)

A)  (11) womibd (111) WL EHIWD (B) (1) womud (i1) wL@HIWD

(C) (@), (i) woHmib (iil) L (HI D) @), Q1) wHomid (1v) LLEHIWD
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56. Which type of decentralization involves the transfer of policy and legislative powers to

local councils?
(A) Political decentralisation (B) Administrative decentralisation

(C) Fiscal decentralisation (D) Geographical decentralisation

57. During the Gupta period, who was responsible for governing towns?
(A) Elected representatives (B) Centrally appointed ‘Purpal’

(C) Local council (D) Hereditary rulers

58. Which of the following is NOT a provision of the 74t Amendment Act?
(A) Constitution of State Finance Commission
(B) Establishment of district planning Committees
(C) Creation of metropolitan planning Committees

(D) Establishment of a national urban renewal mission

59. In 1962, one of the states passed an Act giving provisions for three tiers of Panchayati

Raj at village (gram) , block (janpad) and district (zilla) levels. Which one was that?
(A) Andra Pradesh (B) Madhya Pradesh
(C) Uttar Pradesh (D) Kerala

60. Which of the following statement is/are correct about decentralization reforms in India?
(i)  To increase centralized control
(i1) To promote economic growth
(i11) To achieve effective and equitable delivery of services and inclusive development
(iv) To reduce government spending
(A) Only (1) is correct (B) Only (11) and (iv) are correct

(C) Only (111) is correct (D) Only (11) and (ii1) are correct
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Clamsitens WMMID FLLBWOMID HSHSTIRISENET 2 6TeHTTLE] LDESTMMISGEHEE WTHMIEUENS
2 6TEMLEE W SHBTTLI LIFEU6VTEESLD 6787

(A)  rdlwsy LFeUEITESLD B) HlFeursl ureueITSHELD

(C) B ursueumsad D) yeNuNwseb LFeUELTESLD

BGUST &TeVEHSEI6V, HEHTMISENET ETHLD UML) QumMmeUT :
A) Caipos@H&sslulL NFHbHEassT
B) wsHw remev HlwblssiulL ‘LiFumey’
(C) esimemmid) wesTMHLD

(D)  ugbueny gL AwTeTFa6IT

NedTeU(HeueTEUM N6V 678 T46ug| H(HEHEF FLLSH 6T Nl 360607
(A)  wrblev N oy emestTIISSH6T ST WEVEnLOLIL]
(B) wrmeulL SILLILEY G (DSHSHEMET I6MLDE S 60
(C)  QuBBsT SHILLLSLE (&(D&HSHED6T 2 (HEUTE 560
(D)  CpAw paFLL UsINNSS60 Uellenw Bimie|se

1962 <y b 6887196V, WOMHeVRIGET6) gpetTm) HFmO (HFmd), OFHMGH (L66TLS) LHMID TEULLLD
(Zilla) wlLrisefley LERFTWSHS TTE eP6TM| H([H S ESHSHEHHSTET NHHEN6T CUPHIGLD FLLSHNS
Qubplug) eig?

A)  ypHrl NTCseD B) wsHWL NFCHFD

(C) 2ssrlNFCssD (D) CGsyerm

@npHwurelsy HH&TIL  LFeUeITHSHy FrHl(hHSmEsT UMM KeTeuhh Fammisefley  erg)
Fflwmerg)?

1)  ewwWlLGHSSUILLL sLELUTLL HEH&fEs
(1) QuTHETTSTY eueTFEFH eI 2618 &HeN &S

(111) uvweylsTeT MMID FOWTET CFEMEUSHEMET EUPMHIGHEY WHMID 2 6TemLshElw GobumlenL
SienLWI

1v) TEMmhIsS CF6VNETTRIGEMETE (&6 MESH60
A) @) wlHGw FNwmeTs B) (1) womb Av) wLHGWL FNwTeTS)
(C) (iil) wLHCw FfwmeTg) (D) (1) womd (111) LLHGW FHlwTeTs)
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61. Consider the following statements :
(1) Under the Tenth Five Year Plan, the decentralization programme in Kerala was

restructured and renamed as “Kerala Development Plan”

(11) The amendment of Kerala Panchayat Raj Act in 1992 provided the statutory
framework for creating functional, financial and administrative autonomy at the

level of the third stratum of government

(i11) In the Eleventh Five Year Plan period the entire process of decentralization was

revamped by giving stress to the concept of ‘People’s Planning’.

Which of the above statement is/are TRUE?
(A) Only (i) and (ii) (B) Only (i1) and (iii)
(C) Only (1) and (ii1) (D) All the above

62. The PURA Model as envisaged by Dr. A.P.J. Abdul Kalam, former President of India,

stands for :

(A) Aligning urban development in line with the prescriptions of neo-liberal

policies
(B) Bridging the Rural-Urban divide in India
(C) Ensuring division of power in favour of states in India

(D) Ensuring faster and efficient urbanization in India

63. The new Kerala coinage of ‘Rurban’ refers to :

(A) The sharp distinction between rural and urban areas in Kerala in respect of

the impact of decentralization

(B) The less sharp distinction between rural and urban areas in Kerala than in

other parts of the country

(C) Migration of skilled workers from rural areas to urban areas in Kerala in

search of better job fortunes

(D) The sharp distinction between rural and urban areas in Kerala in respect of

the delivery of public services
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L9165T6U(THLD SN E65)8:&6M6ITE 86116871 W|MhBIS6T :

1) ussTeugl WHoTETHS SHLLsHeT S, CayeTTaNsd HHHTTL LFeULTHS HILLLD
wmFTemwESEIULb), “CareT susTieHg SILLLD” eTesTm| GlLwF LTHMUILILLE).

(1) 1992 oy et Coyem LERFTWSHS [T FLLHHET H(HSHSW, HTFTHRISSS 6T

epetTmmeug,l  SihHeE WwLLESHeL Gewsourl(h), HiF wOmIb HFeurs swridenw
2 (HEUIME (&H6USMEBTETT FLLLILLT6U SLLEDLIEHL 6UPRISIWLIG].

(1) uHQeTTTMTELG WHHTET(HE HILLE HTVSHH6V, EHSHET HILLIOLE 6TeTD &(HSHHISE,
SIWSHSHD  C&BTHILLSET eP6VDd  HHSTTL  LTFeUeITESHSSHler (P ClEFwsypenmu|b
H&IUNSsIULLSI.

GGev 2_6iTeIr FamMIB6TT60 678 2 etoTenLo/ &ifl?
A) (1) wHmb (i1) wL(HWD (B) (1) womyw (iil) wL (Hb
(©) @) womid (iii) LLEHIWD (D) CuwGev 2 6T iE6ETSHHID

@hHWTeN6T (LPESTEITTET (HYWTsHs SHeneveuy LmeELT 6.19.62. LG I H6VITD 6UFTSHETT6V
SrosliLiiuce PURA wréifl erens @MU H\H oy :

A) ydw srymerows Qamstensserfler UflbSIenTsEnHsE goU BETLUUMD eueTTESenw
FTenLng 560

B) @nHwurasy HFmoliym-BaSTLLM LKN6Tenals &0 M&e60
(C) @nHwmeallsy THEVRISEHSE UBTEUTS HHSTTL LEFeneu 2 M ClFLIHen
D) @npHwmeNey GeugLomeT LMHMILD HMEDLOWITET HEFLOWLDTHSEN6D 2 M|H) C\FUISH

‘Rurban’ etéttm L&lw Casiyem mmessrwbd &ML Hleug :

A) ureueTssSHeT  HTHESL  GETLjuTs  Cspemmalflsy  Hymwlym  WLMHMID
H&TLIL|MMIS (ETHEE @emL GuiwimeT Fajenowmest GeumiLim(h

(B) mrligesr 9m uEHsenst el GCarermelley HFmwLliLm MHMID HEFLILMEISEHESE,
@enLCw Genmeumsst FajenLowlmest Geum|Lim(h

(C) Hpemvwrer  CamplevmsTissT  Hymolypriseflsy  @mbE  Compermaiey
B&FTLULMMISEHEE FlDHE Ceusmnev sumiiliLseners Cslg @ LIDCILIWITSH6D

D) Qumg  GCoemeusmenst  eupriGseubley  Capermelest  Hymolym MDD
B&FTLUILIMMISEHEE @6nL GuiwimeT saFenwmest Geumiuim(h
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64. Which of the following is/are NOT included in the basic principles of decentralized
planning as per the report of the Committee on Decentralization?
(1) Autonomy

(1) Subsidiarity
(111) Self-Sufficiency
(iv) Accountability

(v) Transparency
(A) Only 1), (11) and (v) (B) Only (1), 11) and (v)
(C) Only (1), v) and (v) (D) Only (), (i11) and (v)

65. Of the following which is/are the three main components of find given by the government

to local bodies in Kerala?

(1) General Sector Plan (GSP)

(1) Interest Subvention Fund (ISF)

(i11) Special Component Plan for Scheduled Castes (SCP for SCs)

(iv) Climate Change Fund (CCF)

(v)  Tribal Sub-Plan Fund (T'SP)
(A) Only (1), (1) and (v) (B) Only (1), iv) and (v)
(C) Only (1), (111) and (v) (D) Only (i11), (iv) and (v)

66. Consider the following pairs :

Events/Committee Year
(1) District Council Bill : 1996
(1) ‘Ulloor Model’ : 1958
(111) Sen Committee : 1990

Which of the above pairs are correctly matched?
(A) Only (1) and (i11) (B) Only (i1) and (ii1)
(C) All the above (D) None of these
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SIS SMTL LFeuevT&sd ClemLyumeT & wWelleT HMlsensulsrily LFsusumssiulL Sl sl edlesr

S LILIenLE Qs TeTenas6lfley L6iTel(HeusasTeuDey 618 CoFF&HeLILLaN6em6n?

()
(i1)
(iii)
(iv)
v)

FwmLg

5165657

geresflenme

QUi &&amev

QeusNliLEmL S S 6TEmLD

(A) (@), (i) womid (iv) wLED B) @), (i) wpmid (v) LLED
(€ (1), (v) wHoid (v) LLEID D) @), (i11) wHoid (V) wLEID

HNlesTeu(meuesTeummlsy, Gaemmelley 2 6Telm 2 6TeMTLE] SIMLILSBEHSHE AHTFMRISHHTV

QULPMRISLILILL PESTM) (PSS Fam)| &6 6787

6]
(i1)
(iii)
(iv)
)

Qurgls glenm S (GSP)

sullg resflw B (ISF)

UL pwiedl LUl L gmlufepaasmes Amiiy sami S b (SCP for SCs)

amevblemev wrmHm Bl (CCF)

Lpriig e giemens S B (TSP)

@) ), i) wpmid (v) LA B) (). (v) wpmid () LD
(C) (@), (iii) HmID (V) LLHID (D) (i1, (iv) wHmib (V) wLHID

etTou(HLD Gy SH6m6TE S66sf LMk ©

()
(i)
(111)

Bl& D6y B6iT/ LS Ly 24,6507 (b)

wreulL seyerdley CergT @ 1996

‘2 6ireemHij LTEIf’ : 1958

Cl&6T (5 (1D ;1990

GuGev 2 6o Gy s6rflsy 6rgl FflwmsLll GLmBHEIS DS ?

(A) (1) womibd (iii) LD (B) (1) womb (111) wL({HWD

(C) GuwGev 2 6T6T HE0ETHSILD D) @emeu erg16LSl606m6L
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67.

68.

69.

Consider the following statements about the District Planning Committee (DPC) :

(1) Itis headed by the District Collector

(11) MPs and MLAs are its permanent invitees

(111) It consists of 15 members, and its Member Secretary is elected by the members

(iv) This committee consolidates plans prepared by Panchayats and Municipalities

Which of the following statement is/are TRUE?
(A) Only 1) and (i1) (B) Only (11), (111) and (iv)
(C) Only @), (i1) and @v) (D) Only (1) and (iv)

The total cropped area in Kerala as a percentage to total geographical area :
(A) Increased to 77.72 percent in 1990-91 from 74.24 percent in 1980-81
(B) Decreased to 60.84 percent in 2005-06 from 79.56 percent in 2000-2001
(C) Increased to 70.84 percent in 2005-2006 from 62.76 percent in 2000-2001

(D) Declined to 35.5 percent in 2015-16 from 68.25 percent in 2010-2011

Consider the following statements about the Ayyankali Urban Employment Guarantee

Scheme :

(1) It guarantees a minimum of 100 days of employment to all people living in urban

areas

(11) It guarantees a minimum of 100 days of employment to urban unskilled and

matured individuals who are willing to do physical labour

(1) It guarantees a minimum of 100 days of employment to both skilled and unskilled

people living in all urban households

(iv) It undertakes all jobs that are usually done under the MGNREGS

Which of the above statements is/are TRUE?
(A) Only @11) and (iv) (B) Only (11) and (111)
(C) Only (1), (11), and (111) (D) Only (111) and (iv)
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wreulL SILLEEw (DPC) upmw MNesteu(md Sim&Eenssenems &euesfluwhiger :

1) @& wreulL YL HWF HenevenLduNey 2 6T6ms)

(1)  erLNGESET MMILD ETDETEVETEHSHET @) &6 HTHST SHEOLPLILITETTEH6T

(1) @& 15 e muerjsemers Camesr(hsTemgl, GLAID A 6T 2 mLifery G&FwesomsTy
2 miSlestysemmed CHimHoISH&&sILMHS DTT

iv) @bss GUW LEHFTWSHSHET LOHMID bBEITLASTTO SUTHSSLUULL  SILLEIGED6T

R(HEIS MBS S MG

NeT6U(HLD FarMmIs6ifleb 618 2 sstTemLo/&ifl?
A) (1) woomibd (i1) LLHID (B) (1), (iii) womid (iv) LD
(C) (@) wmmb (i1) womb (1v) wL(HIWD (D) (@) wmmb (1v) wLHb

Crss LeNulwew LigdlulleT ss56isms Cararmalley Glorss Luy QFwwliulL UGS :
(A) 1980-816v 74.24 ggeigrs @@mba 1990-916 77.72 sg6isons oH&fsHs S5
(B) 2000-2001 @6v 79.56 gseissdHedmna 2005-06 @ev 60.84 Fgeiswrss
&PDHSS)
(C) 2000-2001 @ev 62.76 sFzaissHeO\mHBE 2005-2006 @6v 70.84 gFgeiswms
g5 558
(D) 2010-20116v 68.25 sz6iswrs @ mba 2015-1660 35.5 s5655L0M8 (GOMHSIETETS]

Siuwerrsmefl  BaIULM  Geusmev 2 miHH SHLLb upmBlwu  NeTeuHhd M SHEnSHHM6TE
H6v6f W mBIg6T :

) maruyprseflsy euFsE HMETES WESEHSEGL GmmbBSULFD 100 BrigssT Cousmey
BUTWILILS(S 2 55 TeUTSD Sef&Eme)

(i) 2L6v 2empluenud QFLWS SUTITS @MHSEGL BSTUUDS SDeOLWDHD MDD
WwEHFFHWenLHS BUTSHERSE GHonhsULFD 100 ®mrisst GCeusmsv  eumiiliLig s,
2 §5TeUTsLD Sef&EEHme)

(1) oemeTsHEI BSTULD (GHDURSID cuflGHGhn SHmenwwmes wOHMID Hmenwwmbmn
BUTS(EHS G GomHSULEFD 100 BT Couenev eUMUILILIEE 2 55TeUTSHLD Hefl&ESme)

@iv) MGNREGS @stt £p eupssors GEuwliu@Bb SenarsHs CeusmsusensTubd @&

CuHesTeTSmal
GGev 2_6iTem Fammiseiflev eTg) &Fifl?
A) (1) wHmib 1v) LLHD (B) (1) wmmiwb (iil) L (Hib
(C) (@), (11) wHmb (iil) WL (HIb (D)  (i1) woHmb (1v) WL (HID
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70.

71.

72.

Consider the following statement :
(1) In 1961, Kerala Panchayat Raj Act was passed which led to the establishment of
local bodies in Kerala

(1) In 1981, District Councils were established in Kerala, leading to the administrative
decentralisation at the district level

(111) People’s Plan Campaign was started in Kerala two years after the passing of the
Kerala Panchayat Raj Act

Which of the above statement is/are NOT TRUE?
(A) Only 1) (B) Only @)
(C) Only @i11) (D) None of these

In planning process, there is a structure of Working Groups and Standing Committees.
Different pairs of working groups and standing committees are given below :

Working Groups Standing Committee
(1) Agriculture Development — Development
(i1)) Women Development — Development
(i11) Climate Change —  Welfare
(iv) Planning for the development
for SCs and STs —  Welfare

Which of the above pair is/are correctly matched?
(A) Only 1) and (ii1) (B) Only @11) and @iv)
(C) Only (1) and (iv) (D) Only (111) and (iv)

Consider the following statements with regard to the fund allocation of LSGs in Kerala
in the first decade of Decentralization :

(1) The percentage of Grants-in Aid to LSGs witnessed a remarkable jump from 20.23
percent of the State Plan Outlay in 1997-1998 to 22.64 percent in 2006-2007

(i1) The Percentage of Grants-in Aid to the LSGs declined to 18.23 percent of the State
Plan Outlay in 2006-2007 from a figure as high as 42.15 percent in 1997-1998

(i11) The Percentage of Grants-in Aid to the LSGs declined from 26.23 percent of the
State Plan Outlay in 1997-1998 to 22.54 percent in 2006-2007.

Which of the above statement is/are correct?
(A) Only ) (B) Only (1)
(C) Only @i11) (D) None of these
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L9l65T6U(THLD SINIEE0 &6 WIS 8616511 MISH6IT ©

(1) 1961 syb sy eveTieen, Carer LEhFTWSHSE Tre FLLLD BlenmCGeummliulLgl, @& Carermaisy
2 6TemmL&l QienLoLiL|senerT Himieu eulbleU@GSHSHEl.

(1) 1981 @ev, GCarermeNey meUlL sHesiTdlevassT HimeuliLlLer, @& reulL eTallsy
BlFeumsL LITeusvm& eSS n 8, eulblel @S5 8.

(1) GCaperm uEhETWSSE T FLLD HeonGummliulL @renrh eTH&EhsEGL DG
Caremmalley &&6T SILL LNTESFTTLD CISTLRISLILILLS]

GLoGsv 26Tl FaMMIB6TTl6V 6T5 2 EBTENLOUIEN6)?
A) (@) wlEw (B) (1) wi@wb
(C) (1) wL (b D) @emeu ergi6Ll606Em6V

SILLOIL6L GlEwesoumligsy, Uewll&h@WaeHseT WwMMID Hlenevs & (aa6rfleT Senlil] 2 6T6mg).
GleusuGeum) Geomig Lissofl& (& (&6 MMILD Hlenevs &) (W&&6T &G Clam(hasUuL (heTerer :

L1661 85 (8 (L0 S & 6iT 1Hl6m6V8 (5(L0
(1)  efeusmw Guwum( - Goum(
(1) QuestraeT GbUT(H - Gowum(
(111)) smevHlemey LTMHMLD — TH6V6DT
iv) eusmiEASHTET HLLSIL6L SC wHMID — TB6V6BT
ST &Emse s,
GoGev 2_6iTer Cxomigsseflsy e1g) Fflwmall QU EHHEIHDSEI?
A) (1) womib (iii) LLEHID (B) (1) wmmid (iv) wL(Hb
(C) (1) womibd (iv) WLEHIWD (D)  (i1) woHmb (1v) wL([HID

SHSTTL LUFeUITEEHSH6T (PH6L HEFMTLSHH Cagermailsy LSG sEmssmer HlF ais8wH
QBTLILITS L96ToU(HLD BIN)&65)85 8 6M6TE 8616511 MISH6IT ©

(1)  1997-19986v wmhlev L Clasvellsyv 20.23 szeiswrs @mbs 2006-200760 22.64
gaaigwres LSGaensarar 2 gsas56smensullsr Fs56ish GNUNLESES euamnauNey
2 WITHGIETETS.

(1) 1997-19986v 42.15 Fzeiswrs @mbg 2006-20076v wrHlevs HLLs Glgsveiley 18.23
gaeiswrs LSGaEnasasmer wrefllwnkissrflsr #&6is0 &enmbaI6Tens).

(111) 1997-19986v wrhlev HLLEF GClasvallsv 26.23 sgeiswres @mba 2006-200760 22.54
gaeaigrs LSGaEnsasmer 2 569505 Temnasuller &&56I5W &enMbSI6Terg|.

GGev 2_6iTer gammiseiflev 61 Fiflwimesrg)?
A) (1) wl@w (B) (1) wi@b
(C) (1) wL D) @emeu ergi6Ll606Em6V
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73.

74.

75.

Why is the Mahatma Gandhi National Rural Employment Guarantee Scheme
(MGNREGS) restricted to rural areas?

(A)
(B)
(©)
D)

To increase wages in rural areas

Because there is no scarcity of employment in urban areas
Because there is no poverty in urban areas

To reduce rural urban distress migration

Table 1. Women’s employment according to education levels in Kerala, 15 to 59 years :

Women’s employment Change between 2018
Education levels and 2021

2004 | 2011 | 2018 | 2021
Less than 10t class | 35.15 | 30.61 | 31.00 | 38.29 +7.29
Completed 10tk class | 24.34 | 25.34 | 23.49 | 29.23 +8.49
Completed Plus 2 27.55 | 24.60 | 20.74 | 29.44 +8.7
Graduate 45.42 | 39.64 | 36.44 | 41.68 +6.93
Total 33.93 | 29.95 | 28.51 | 35.48

Source, National Sample survey, 2004, 2011 and Periodic Labour Force Survey, 2018,

2021

Which of the following statements about the relationship between women’s education
and employment is true?

(A)
(B)

(©
D)

Women’s employment increases with education

Women with the lowest level of education have the highest level of
employment

Graduation improves women’s chances of being employed
Women’s employment has shown a rising trend over time

In Table 1 above, women with the lowest and highest levels of education have higher
levels of employment compared to those with middle levels of education throughout the
period shown. Between 2018 and 2021, employment increased for all groups but most for
those with middle levels of education. In view of the overall economic situation during
this period, what would best explain the increase?

(A)
(B)
(®)
D)

Job creation specifically for women with middle levels of education

Skill development programmes for women with middle levels of education
Severe economic distress at the household level

Economic boom leading to new job creation
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73. warswLr &MHH Cadlw carrs Geuensv 2 MHs SILLD (MGNREGS) fiymwliymisené @ wi(Hib
g6t BLELILHSSLILL (HeTemg)?
A)  SHgmwliymhigefsy 2arflwigend 2 Wifsa|se0
(B) gGleresflev masFLLmEig6Tlsb Gousmev sumilLiL] LUMHMTEEENM @6V6m6V
(C) gQerreslsb BaFLILMRBISENE suMIENLD G)606M6V
(D)  #Agmwliym pesFUYD @LUCLWTEneS (&HmMes
SiLLeuenesor 1. Cayemmallsv 15 1ps6v 59 euwig) susmuisumest ssvell HlemevserflsoTLilg ClLiesoTas6Tfl6tT
GeuemeveumILiL
CluevarserflesT GeuemeveumulLiLy 2018 LD%%“LD 2021 5@
seval lemevaser @eoLwley LTHOLD
2004 | 2011 | 2018 | 2021
10 gy b 6uELINME) GHsmmeursteufser | 35.15 | 30.61 | 31.00 | 38.29 +7.29
10 b uGLIY Pi4SSTT 24.34 | 25.34 | 23.49 | 29.23 +8.49
emsiv 2 (Y555 27.55 | 24.60 | 20.74 | 29.44 +8.7
utLgmfl 45.42 | 39.64 | 36.44 | 41.68 +6.93
Qom0 33.93 | 29.95 | 28.51 | 35.48
5TrD, GCsHAw wrslfl ywey, 2004, 2011 wHMID sSTEVWsHD GlHTHevmery LML
sesrs0sbH 1LY, 2018, 2021
74. Glustwseflstr HevalsEWw CouemeveumILINM @D 2 66T GIGTLIY ummlw NetTeu(md Fammiserflen
6T&| 2 6v0T6mLD?
(A)  ssvailyLetr Gluestrserflesr GoueneveumiiliLy SiHlsNEH M)
B) Vss Geopnhs oeTeNevmer Svellwmle] GlaTeTL  GueTaeT & 2 WihS
GeuemeveumiLienLIg Gl mesor(HsiTemssTiy
(O)  ulrdugliy Questraefsst Ceusmev eumilLiL|sensT GbUHIEIME)
D) sreoliCursHley Quette:eflest  Gouemsveuriilily  HHafHH UL  CUTHDSS
sTLH&mSI
75. GuGev 26Tem SiLLeusmeser 1 @6v, STLLULL(6TET &Meud (WpeuGId BHIGST SisTedlevmest

sevallLesT UNHILEUTE! GoODHS WMHMID 2 WiHE Hevall Hleneussners GlamessTL ©lLI6sTE6T
91B5& emailevmert Geueneveumilienus Gasmesor(hleTsemeory. 2018 wmmib 2021 &@E @emLullev,

SINETHS| (B(WLHBHEHSHGD Couemeveumiil HS&FSHGI6TETSI, 6oV GlLHOUTEVTET BHSST
SlemallevmesT H6va 2 6TETEUTSH(EHEE. QHHE HTVSHSELLESH L @RLHICWLISSL CUTHETTSTTE

EFLRED6VE &(HSHSV CaTeseT(H), @bh& S sfLenL ADLILITS e96Ts & 6ug] 677
A)  GMuurs BH&ST Sevallmley 2 6Tem GClLIEETS EhHE @ Ceuensy eUMLILIL] 2 (HEUTSHELD
B) BOHSsT SeTallevmert Heval Q& TeBITL GlLIETITS ETH&STesT Hlmest GLoUTL(H &L LKIG6T
(C)  BOWLU SeTaNL &HlemWITET QUTHETTHTT Gl (HES5LY
D) yHw Ceuemev 2 (HeuTEHHHM (S 66U EESELD CLITHETTSTT FHMLD
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76.

71.

78.

79.

80.

Kerala 1s an ageing society with an increasing proportion of population over 60 years and
with a high life expectancy that is on par with the developed countries. At present, what
1s the dominant setting where geriatric care is provided in Kerala?

(A) Hospitals (B) Households
(C) Old age homes (D) Care homes

There is no income ceiling for reservations for Scheduled Castes (SC) and Tribes (ST) in
education and employment. Why is this considered necessary to achieve inclusive
development?

(A) The social nature of caste discrimination
(B) The economic basis of caste oppression
(C) SC and ST people have low representation in Parliament

(D) Work participation rates of SC and ST is very low

The Sustainable Development Goals (SDGs) of the United Nations (UN) which has 2030
as the target year represents a broader vision of development compared to the
Millennium Development Goals (MDG) which came to an end in 2015. Which of the
following represents the broader vision of the SDGs?

(A) Protect the planet and improve lives

(B) Ending poverty and hunger

(C) Ensure environmental sustainability

(D) Combat HIV AIDS, malaria and other diseases

Which of the following would you associate with women’s empowerment?
(A) Punitive measures for engaging in sex selection
(B) Mobilisation of poor women to achieve livelihood security
(C) Payment of large dowries

(D) Appointment of a woman leader from a major political party as a minister

The Women in Development (WID) approach was the outcome of global advocacy,
research and activism in support of women’s development in the 1970s. Which of the
following do you associate with the WID approach?

(A) Reservations for women in government jobs
(B) Training for women to enter the labour market
(C) Providing cash transfers to women

(D) A critique of development from a gender perspective
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60 euwgIsE CLHULL WWE&ESETEOSTmE aN&l555H 600 AHHsFHE 6uHD WOMHMID  EUSTIHS
BTH&EHSHE QENTTWITET 2 W SYULSTEVD GlETesoTL 6(H 6UWSTeT FWSHTWD Gaiyerr.
snGurgl, Carermailey WHCWTT HHFeng eMEHEILIHLD (PeH W SemLiL] erg)?

A)  wmHSSI6ULEMESTEST B) GOwLuRSST
(©)  wHCWTT @svevriser (D)  ugmwifliy @evevriseT

sevall OMID GeuemeveumiifNed ulpwed grduflery (SC) wHmbd upkiGyuien (ST)
B\ 55E(H & (6THE (S 6U(HLDTETT 2_F&FUTIDL| @6V6M6V. 2 6TEMLSSIW 6USTTFFIEnW SiemLW @\&| eJedT

Sjeudlwib eTedTm| H(HBLUILHIH D GEI?
Q)  erd umEGUTLIg6T Fepss @wisvLy
(B) &g @bsEwenmuisst UM meTTSTT SiigliLienL
(C) SC wmmib ST &eEmeE LUTTTEHLETDSSH HmDHS LNTHBH S SH0D 2 6T6Tg)
(D) SC wpmib ST ulesrflesr Lewl LRIGHDHL ENK S L&D GHMMEUTS 2 6T6Tg)|

20308 @688 o eoTLTss ClasmesorL adlw BrbHisefler (UN) Hlensvwime susTisd) @levs & a6t
(SDGs) 2015 @ev (yeuenLbg Wlevedllesflwbd GLeusuiGweTl  @levd@asenLer (MDG)
RUIN[HILGCUTE susmFadulletT LFHS LTTeneuenWs GNSE MG NeiTeuheussreupmsy ergl SDG
serfletT LFHs UMFensuenw LNFHLOSH M7

A) FHrssomsl UTEIGTEHS UTPEMmSmW GLDUHSSHI0IG

(B) esumienwo wmmib LHenW @ &S560

(O) &DHMIFE:W6 HemeuggeTenenl 2 m|H CFlISHe0

(D)  er&.g.00 T 6, LGeAWIT LHMID NM CHTULISENST 6THFSHSHIL GUTTT(H UG

LN 63T6U (HEUETEUM NI 6V 6TEN G [ETaIG6T GILICTITH6T HHBTTL6IILL L6 Q&TLTLUbBSSHIeSTa6T?
(A)  umedesrs CoTelsv Fr(hLI(h6USMHE TEUT &EE0TLEMEBT [HL6LLY.E 60 &6
(B) eumpeursmy urgisTlenL SenLW genLpll GlLIesTEHen6T et lH T (HSH60
(C)  Quflu eursLFameTH6T ClFa)I5 5560
D) e QuAw STHwed sLAUNO(HHE @[ CILIETIT HeMEVELEDT HEMFFTTS HIWLIL &S0

Quettraser eusTFHuNL (WID) oysmi@wenm ereitug 1970 sefley Cluesoraselesr suemyssls s,
QUBHTEUTE 2 u&E6emTellll  UTSHHISET, PITUFF wOMMID  ClFwsvumligssr  allensmeum(@Ld.
NesreumeueTeummlev steng WID ojami&wemmuLe QsrLiyubSaisTasr?

A)  sirs Cousmevsssrfley GlLIGTITS (ETHESHTEST QL 628188 (H)

(B) QuettrassT Qamiflevmery Fhenguiley miempeugmamest LuNme

(C)  QuetET S (ETHE (G LIGsETLI LMD MhISED6IT CULPMEI (5860

(D)  umedesrs sevtTCEHTTLLSH60 6u6TTEFS LIHMIW 69)0F&F6uTD
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81. How does becoming a member of a trade union enable workers from poor families to
expand social capital?

(A) By forming new relationships

(B) By learning about labour rights

(C) Through bargaining for higher wages
(D) All of the above

82. The Government of India provides a gender budget statement with the annual state

budget. What does the gender budget statement contain in any specific year?

(A) Achievements on account of government expenditure on women and girls in

the previous three years

(B) Analysis of gender gap in human development in the light of budget

allocations

(C) Budget estimates and actual expenditures towards women and girls

(D) All of the above

83. Why are banks willing to give loans without collateral to women organised in Self Help
Groups (SHG) but not to individual women?

(A) High repayment rates of women
(B) Women organised in SHGs resolves information asymmetry
(C) Government support for women SHGs

(D) Women are known to be risk averse

84. People With Disabilities (PWD) suffer from very low employment levels in India.
According to National Sample Survey (2017-18), only 23 % of PWD over the age of 15
years are employed in India. This is less than half of the employment of all population
for the same age group according to the Periodic Labour Force Survey (2018) data.

Which of the following best explains the low employment levels of PWD?
(A) Lack of appropriate infrastructure
(B) Low access to education
(C) None of the above
D) (A) and (B)
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8l. e Osmfihsmssssr 2 muergmes @@HUUS 6luy gowsds Ghbumseamers Caibhs
QBT EVMETTSHET FeLpds eLpeLBETHenG ellifleyUbHSSHISM?

(A)
(B)
©
D)

LS 2 M6LSHEM6IT 2_(TH6UITE (&6USHE0T CLPEVLD
R mflevmery 2 flenw&snsmrl LM M HSICIST6TEUSHET LLHEVLD
31H& 2 s S MG G CLS6USEST FLPEVLD

GLGev 2_6iT6IT BiEMEBTSHGHILD

82. @nsHu ors umedlest ULGILL HMisamsenwt ot LBV LLGIDL(HLeT eupkIGSImS).
GMIULNLL oy 68TI960 LITeN6T 6uT6Y GlF6V6Y HMGemss 6T6aTesT Gl TesT (H6iTemes?

(A)

(B)

(©

D)

WHemsW eperm  yeveT(hiseifley  GluetorasT  WLOMIDL  FMBSHEHSHSTET TS
ClEsvellesTrigeifl6tT & Mg 6m 60T 6T

LLGIQL seg188 Hisssiflsr GleueflgagHlev wesflg susrigdlulisv Limedlest @emL Gleustluilesr
LG LIumiley

LLQL wHllShHissT wmmib CluessTasT wOHMID FmIB&EHSSTET 2 656T60LDWITET
CFevey&H6T

GGev 2_6iTeIT SiEMEBTSHHILD

83. sw 25aMs GuUssslsey (SHG) @umisamwssiull CUeTsEnhsE LNensmruisueumnosy

SLETHEMET 6ULPMIS 6UMISISHET SWTTTH 2 6T6T6sT, Y6OTT6Y SHeofllllL GlLTIT&EHSS, 66T

QaT(HssaN606m607?
A)  Quesssefer ofa HHUNE CFa&HgID NS Ghig6T
B sw osaN&EEWHSHN @EUEBISMLESSIULL CUSITEET SH6U)  FLFFTHM
S6TEnLEN W ST&HS DT 6T
(C)  QuestTassT & 2 5608 (5)(0&5EH5E HTF HST6Y
(D) QuetETH6T Y LSS @)6V6VTEHEUTSHET eTetTm] HMIWLILHIE MG
84. @ndHwureNsv  wrHMSHMerTTeNEsT  (PWD) Bess  Gonns — CeusmeveumiliLImey

urdssliuph&lermey. Calw wrHifl guley (2017-18) Ly, @nbHwraNsd 15 euwig)s @ CmulL
PWD serflsb 23% Guiy wi(HiGw uessflyflélstmesty. smeuwenm & mLflevmsT LisnL &ewrs 6l (HlLiL
(2018) sreyserflettuly, @& @CT UL ET(HEHTET HMEBTHSE| &S EHMLW GCousmevsumiiLiey
UGG (GOmeUTeTaTGLD. NetTeuheueteupmlsy srgsl PWD @6t @eombs GCeusmsveumuiliy]
Blensvaensr AmLLiTe efemd&GH g7

(A)
(B)
(©
D)

QUM (HSHSLOMETT 2_61T& L LeMLOLIL| @)6V6VTEMLD
&H6V6NSE ST (FEDMHS S6T) |56V

GGev 6Tg 161D @)6VEBIEV

(&) wpoid (B)

-45-



156/2024-T

85.

86.

87.

88.

Which of the following is/are initiatives of NITI Aayog?

@

(i1)
(111)
(v)

E-Amrit

Methanol Economy

Lifestyle for Environment

People’s Plan Campaign

(A) All of the above ((i), (ii), (ii1), (iv))
(B) Only (1), (i1) and (1i1)

(C) Only (1), 11) and (iv)

(D) Only (1), (i11) and (1v)

Which of the following statements about the Haritha Kerala Mission is/are not correct?

@

(i1)
(i)
@iv)

It is one of the four missions under Nava Kerala Mission launched by the
Government of Kerala.

It has four sub missions to deal with water conservation, waste management,
agriculture and climate change.

Pachathuruthu project is a venture of Haritha Keralam Mission to make
wastelands green.

Garbage free New Kerala is an action plan prepared by Haritha Kerala Mission
(A) Only (11) and (i11) (B) Only (11)
(C) Only (111) (D) Only @v)

Which of the following is/are part of the eighteen items of the Twelfth Schedule to be
dealt with by Municipalities?

@

(i)
(iii)
@iv)

Roads and bridges

Urban crime

Registration of births and deaths

Non-conventional energy sources

(A) Only (1) and (11) (B) Only (1), (i1) and (i11)
(C) Only (1) and (111) (D) Only (1), (i11) and @(iv)

With respect to the e-governance initiatives in the state of Kerala, which statement
is/are correct?

(@)
(i1)

(iii)
(v)

E-Sevanam is a single platform to provide all online services by the government of
Kerala through mobile application

K Smart is a data centric solution for LSGIs in Kerala which ensures good
governance

Citizen Online portal provides services related to Grama panchayats
Sanketham is a software for granting building permits by local governments
(A) Only @), (ii), and (ii1)

(B) Only (1), (i1) and (iv)

(C) Only (11), (i11) and (iv)

(D) Only (1), (111) and (iv)
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LN edTeU (HeueTEUM N6V [F1E) o CUITEHE 6T (P6sT(PWDHF H6T Wmeneu?

()
(i1)
(iii)
(iv)

g-o10fl5

Q& SH6BTITEL GILIT(HETTSHTIFLD

FHM|F(ELPEVISHETEIT EUTLPHENS (LP6DM

D&&6T SLL LNFFEmyiDd

(A)  GCwGev 2 sem SiemerTgGID ((1), (11), (111), (Iv))
B) (1), 11) wHmb (111) WLEHIWD

© (), i) wppid (v) e Gid

D) (@), (111) woHmid (1v) LLEHIWD

aiflg Caremm WlagketT LHMIW NesTeu(HD M) Eensa6M6v g FifluNsvensy?

(1)

(i)
(111)
(iv)

Carem Srgmey ClTLRSLULLL Beu CaIemT QUuIsBsGSI6T & 2 6Tem Hre @ Leusserlsy
@gle|b @eTOTSLO.

B urgsmiY, sle] GosvmsseTento, eNleUF MWD MHMILD &TevBlensy MMM & WeLMenME
NS WITETEUSH M (S, BITEOT(S) &I6M6TOTLI LIssofl &6 2 _6Tement.

LEESSHI(HSS HILLLD eTeTug Sifler BlevmigsemnsT LGFenwWrs @G0 anifls Carerm Wanestlesr
PUMHFWMEGLD.

BGLenLuNsveur LSHlw Caremm sretLgy amifle Cagem Wlanest W miflss Clawesv SlLLD.
(A) (i) womibd (i11) L HIWD (B) (i) wli@Hwb
(C) (iil) wL({Hb (D) @v) LLEHb

LetTesiTesoTLTeug  SLLeuemesorullest  LSHGleTL( 2 (HUUSeTleL LNedTeu(HeusTELD 6L
o1&/ BETTLEGET enswmemliLiL CoussoTigwieneu?

(@)

(i)
(111)
(iv)

FMEMEVGET LDMHM|LD LIT6VhISH 6T

BSTULD GSHMOLD

oL wHmID ooy ugey

Y &TYT eTflEFsH S UG TTmhIS6T

A) (@) wHomid (11) WL HID (B) (@), i1) wmmib (1i1) L (HID
(©) (@) womib (iil) LLEIWD D) @), (Qi1) woHmb (1v) L (HLWD

Cayer  LMHlELSHSIEL  Ll6TT-SYEHEOLD  (PETPWDHEHEMTL  CIUTMISHEUDT, 6THS MEENS
Fflwresrgy)?

(1)

(i)
(111)
(iv)

©)-GFeuesTiD eT6tTLIL| GCHTET HTFIGT HEDBTHH| U6T6N6V60T CHFMEUHEMETID GILDTEMLISY
LIWesTUIT(h) ELP6VLD BULPMEI(&H6USM&TEST G SHEITLOMm(ELD

K Smart eresrugy Cayermallev 2 6imer LSGlasemsasmer sreay snwws Sieum@Lb, @& mevsy
HyeurssHens 2 M ClFwsng|

LgFerr  uetTemevesT  GUTTLEL &P  UEhETWSHSISET OgTLuTeT GCaeneusener
SUPEIGE DS

grICasLD 6T6ITLIS| 2 6TeETHT HTFMHRISMIGETTE) Sligl IS SHEN6IT CULPMI(GH6USMSTET 6(Ih
CIO6ETEILIM(HETT &y, (&HLD

A) (), (ii) pmid (ii) wr Gid B) (), (i) wHmb (v) 1D
(C) (i), (iii) LHmIb (v) LD D) (), (iii) whmid (iv) L Gid
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89.

90.

91.

Which of the following statement is/are correct?

The number of seats of Councillors shall be?

(1)

(i1)
(111)
(iv)

25, where the population of the Municipal Council does not exceed 20000

25 for the first 20000 and one each for every 2500 population exceeding 20000,
subject to a maximum of 50, for a Municipal Council

50, where the population does not exceed four lakhs for a Municipal Corporation

50 for the first four lakhs and one each for every ten thousand exceeding four lakhs
subject to a maximum of 100 Councillors for a Municipal Corporation

(A) Only (1) and (i1)
(B) Only (1) and (iv)
(C) Only (i11) and (iv)
(D) Only (1) and (iv)

Which statement about the Ward Committee is/are correct?

(@)

(i1)
(111)

(iv)

A ward committee is constituted for each ward of the municipality where
population exceeds one lakh.

Councillor of the ward is the Chairman of the Ward Committee.

20 persons are elected from among members of the resident’s association of that
ward, which are registered in the Municipality

20 are nominated from persons representing cultural organisations, voluntary
organisations, educational institutions, industrial and commercial establishments
functioning in that ward

(A) Only (i) and (i1)

(B) Only (i1) and (iii)

(C)  Only (i1i) and (iv)

(D) Only (1), (i1i) and (iv)

Which of the following statement is/are correct?

(@)
(i)
(iii)

(iv)

AMRUT Mission was launched to provide basic civic amenities like water supply,
sewerage, transport and parks.

AMRUT 2.0 was launched in 2022 to develop water secure cities under
Atmanirbhar Bharat.

Mission will upscale universal coverage in water supply from 500 cities to 1000
statutory towns.

It is a centrally sponsored scheme.
(A) Only 1) and (i1)

(B) Only (1), (11) and (iv)

(C) Only (1), (i11) and (iv)

(D) Only (1) and (iv)
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NedTeu(HLD Fammissesv erg) sflwmera)? sesTdleviaerfle @)L rbiserfler eTesoresilghenas eTetTLI?

()

(i1)
(111)
(iv)

25, pesflElLcv seysiTledlstr &S6T Glgmena 200008 @ Cosy @eveney

@R LIH&ET FenusE WPeev 20000 CumsE 25 Guy wHmib 200008@E CLHULL W&S6T
Camemaufsv 2500 CL(mHE @ Seur seedTmI, HSlsULFD 50 CL(hsE 2 LUl (h

50, @ sl &luey &TTUILCTaNE)I5 ) &HS6T ClSHTens BT (S VL. F&He0S ST6toTLaT606m6V
P&V BTG VLFSHHISHE 50 Cu(RHL, HBITETE LFHHHE GV 2 6T eUbleUM(H

USSTUNTHSHISEGSWL ST @M  WesflFuey  srruuCrawsnisE HHsulsn 100
&6 6TEFI6VT & (6THE S 2L UL (h)

A) @) wHmid (11) L Hb (B) (@) womb (1v) wL(HD
(C) (iii) womyb (iv) wL({HWD D) (@1) womid (1v) wLHIb

Ui SV UOMIW eTHS SIM&Eens Fiflwmerg)?

()

(1)
(iii)

(iv)

R(h VLFSHG|& (LD NS HLOMET &HH6T CHTens 2 676 HaFTLFluNesr soeubleum(m surmy(héEL
aN(H&IS (& HOWSSHLILIL(HETETS).

sumy(h) &6ystTFlevr eumiy(h) (& (LeI6T Hemev6Ur.

BaITLAUNL  udhle OQFLwWlULL  HbBSH  eumfigesT  GLUABLUCUTT  Frusg st
2 miuestyssrfley @bl 20 Cui CaHTmHEIS[H&&sILHSEMTTEHST.

SIbS 6UMTIe6L GIFWEVLI(HID HEVTESFT HeMIDLILS6T, SHedTestmeu GClgmesor(h HlmI6u6sTmISET,
sevell  BimleussTmiseT, Glsmfled  LOMID  euemiles  BiMieueTRsET Y EluleunHenmL
Nr&blSSgeulILBSSID BuFsel Bl (mbe 20 Cui uflhglienrsaslublSEmmTTSsT.

A) (@) womib (i1) LLHD B) (1) wohmid (1i1) LLEIWD

(C) (ii1) wmmib (1v) WL (HIb (D) (1), (ii1) woHmibd (iv) WLEHIWD

N6dTeU(HLD Fammiseflsy erg) Fflwmea)?

(1)

(i1)

(iii)

(iv)

b7 6uprisHey, sleyby, CUTHEGUTSHS WHMID LLHISTHS6T CUTETMD HgLlILInL (&Lg6mLD
CUFSHHEM6IT 6ULPMIS HHLD(THE LO16:60T OIS TLMBISLILILLG).

AMRUT 2.0, 2022 @6y eyuHwoblfuf umys S B UTSISTULTET HaJhIGEnsT 2 (HeUTHS
CamLmslULLg).

500 marmiseflsv @@mbg 1000 sl el BaImsEhHeE) B aNBleWTssHlev 2 susermallw
UTSISTLIEDL LBlOR65T 2 WIT&HG)LD.

@&l e WS HilugeN HLLb.
(A) (1) womud (ii) L H B @, (1) wooid (1v) LLHIW
(C) (i), (iii) whHmd (iv) WL ED (D) (i) wHmb (iv) wi b
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With respect to a District Planning Committee, which of the statement is/are correct?

1 DPC consolidates plans prepared by the Panchayats and Municipalities in a
district and prepares a draft development plan for the district.

(1) District Collector is ex-officio and Secretary of the Committee
(111) Chairman of the DPC is the President of the District Panchayat.

(iv) The District Planning Committee shall prepare an Execution Plan for the district
not later than 12 months from the date of sanction of the Perspective Plan for the
district by the government.

(A) Only (i) and (i)

(B) Only (i), (ii) and (iii)

(C) Only (i), (iii) and (iv)

(D) All of the above ((i), (i), (iii) and (iv))

Choose the most appropriate answer from the options given below :

(A) The focus of e-Governance is on stakeholders outside the government or the
public sector organization

(B) E-Governance involves the use of government machinery to improve
government operations

(C) The relationship between government and citizens is part of the focus of
e-Governance

(D) E-Governance primarily focuses on providing government services online.

web portal launched by the Ministry of Panchayati Raj, Government of
India has the objective to strengthen e-Governance in Panchayati Raj Institutions (PRIs)
across the country by bringing in better transparency in the decentralised planning,
progress reporting and work-based accounting.

(A) e-Taal (B) eGramSahaay
(C) eGramSeva (D) eGramSwaraj

Choose the most appropriate answer from the options :
The Open Network for Digital Commerce (ONDC) is
(A) An application to connect shoppers and retailers for open e-Commerce

(B) A company which launched set of specifications to promote open interchange
between shoppers, technology platforms and retailers

(C) An intermediary to enable interchange between shoppers, banks, technology
platforms and retailers

(D) A software which helps to create an exclusive e-commerce system for
shoppers and retailers
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wIeULL SILLE G Weneull QUTMISHS euenTuN6v, 6THS HMSHens Fiflwimesrg)?

(1) @@ wraLLSHH LEHFTWSHHISET LOHMID BEITLHASTT SWTHesiulL SLLkiGensT
DPC qmiflenents g, wmeul LS mamer suenyey Gubuml (g S LEmss SWrhesHmg|.

(1)  wmeulL AW ugsaNuiev @ HbHa LMHMILD & LpeSl6tT ClFWevmsT.

(1)) DPC @sir semeveuiy omeULL LIEREFTWSHS| SHEMEV6UIT 6T

(iv) wmeulLs HLLE (GoeuTeTg, LIULLSHDETRT (PTG &S HLLHMS AT

SIS &S Brefled(mhg 12 LIFRSEHSEGT WTeUlLGHnETeT GFwsy SHLLsHemnss
swmiflés Geuesor(hlb.

(A) (@) woHmib (i1) wL(HWb

B) (@), (1) woHmyw (iii) WL (Hb

(C) (@), (1i1) wHmID (V) WLHID

(D) GCuwGev 2 6T SyemerTa I ((1), (11), (1il) LHMID (1v))

&Cp  Oarhssuulberer  aNmUURIS O (BB  WBleseyb  CQuTmsSSLTeT  LSHmevs
CaThelsblSseaD :
(A) 6T oy EmHEnLUNGTT HEUGTLD T&H H6VEVG CLTEISHEIMMD HlmieuaTSHME oUW
2 66T LIGIGSTTT&6T L5 2 6Ters)
(B) etr-ouEmemd  etetTLZI  SiFEFMRIS  GEweumhisemer  CLLUGSEH TS
QWIS TmIsEn6TL LIWL6GTL(HSSHI6UMS 2 6T6mLSS WG|
(C) orsmbssHOGL (GYLESEHSGLD @enLuNeVTeT 2.Mme| SHEUTHSHIET b
LGS WITGLD LE16DT 4, (6THEBILD
(D) 6T o EHEMD (PSHETEMOWITS STEFMHIS CFENEUSHENET Y 6TeM6V6sIl60 ULPMHIE S
&6UEITLD O1F6VI5HGIH M|

ugsueumSSLILLL  HILLSILe, (peoTGeormm  SiMiHens wLOMMID Goueney  SigliLienLuN6evmesT
SHETHEIWEY @S TFTRISHHET LIEHFTWLSHSH [TLD  HOWFFSHSSHTED OSHTLmISLILLL
@enesTwger CUTFLEL, FMbHS GleusflliLenLSSHetTenenwl Glamsssr(h 6 (h6ug6sT
epeud, BITH (WWEUKID 2 6Tem LEREFTWSHS TR Bimieusstraiserfley (PRIs) wer-oy @memwenws
susILILI(h&Gleuens CBTESLTEHE 68 TevoT(HET6TS)|.
(A) e-Taal (B) eGramSahaay

(C) eGramSeva (D) eGramSwaraj

eNpuumtisefledmbg WBlesayb Gummsswrest udlmens CoHIhoshssa|n. 198l
UfHSEHSMsTeT Hinbhs CBL6eurys (ONDC) :
A Hons WesT-6u6msllBSHH M B TS HEOLE ST 6T LHMILD Hevevemm
D LIEN6TTWITEITT S6M6IT (@)65)650T85(&HLD LIWIesTLIT(h)

(B) =eoLssmrissT, QSHTH6VEILL S6TmhigeT wHMID Fevevenm aNMLIENTWITEIT S (6THE (S,
@eoLCu  Spns uflbrHmsens CuwbUbhSHeusHsSTET  eNeurs &ML serflet
G mELenL M (asLLbHSSIW Hmieu6sTD

(C) sevLsaTTFsHeT, sumSlHeT, CHTHOHILL  Hemmgst  WwOMID  Fevevemm
eNMmueneTWT6TT&6T @6enLCw LflmrhHmEemns GlFweU(HSHS @ B eOLSSTSHT

(D) senLssMTIssT LHMID Hevevemm aNMLIEHETWTETTHEHSSHTET NFSHGWS @)-STLoFen
SieMLIEHLI 2 (HEUTEHS 2 &6 GIL6TGILIT(THeT
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All the below mentioned options except one are considered as Non-Value-Added
activities while conducting Government Process Re-engineering :

(A) Transportation (B) Redundancy
(C) Inspection (D) Payment

The factors-time, cost, complexity, transparency and citizen experience are factors to be
considered while measuring ————— while considering Government Process
Re-engineering for implementing an e-Governance system.

(A) Service Quality

(B) Reliability

(C) Relationship quality
(D) Engagement quality

The type of Information System that would help in answering the question, “What would
be the impact on rice production in the state if the average rainfall during the South-
West monsoon reduces by 20% this year” is?

(A) Transaction Processing System
(B) Management Information System
(C) Decision Support System

(D) Knowledge Work System

adopts a strategy to search through a collection of rules and formulate
conclusions called the inference engine.

(A) Transaction Processing System
(B) Management Information System
(C) Decision Support System

(D) Expert System

When the overall objectives of a proposed e-Governance system are to provide users with
tools like search engines, forms and documents for download, and email facility for
contacting the concerned department, it is targeting ————— level of the
e-Governance Maturity Model.

(A) Information
(B) Interaction
(C) Transaction

(D) Transformation
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SIr& CQFwevwsnm MI-EuTMBlullwensy BLESHID Curgl, HCP GMILINLLLL(HsTET Sien6sTSHE]
eN(HLILIMISEHLD speoTm| ST, WHIIL CaFssLILLTS ClFWweu&eseTTeHS & (HsLIL([H &leTmeT :
A)  CursEeurssl B) uewlBssD

©)  siey (D) uewnd QFNIHSHIH60

L6)60T- Y (THEMD  SfemwLienugF  ClFwevLhSHIeusmeTeT  LMI-GLTMuilwey  smysusilaeT-Cry,
Clgsve, Haseumsrt HetTen, GlausfllLINLSHSHETEN MHMID (SPLOSET HeB)LIEUD Iy &lwisneu
SITFTHEIS GlFWeHIpemDmL SH[HHHEL 6&m6T(EHLCUTS Slemafi(hib  Gumg
&(HSHH6L GClamsiTer Geuesorigl STTessil&6mT(&LD.

(A) Goemeu sybd (B) mpoUsssETEOW
(C) 2meletr &y D) mFEULTLysT HD

“CEeTCLME LmHeuwenuieT Gurgl Frmafl wenLGUTe] @BE wesoTh 20% GHEODHSTL
wIHeVSHL NF 2 HLGHuev eretTest LTHILIY HUHID” eretTm CaeTeNd @ LHsveleEs 2 e
SHEHEUCV S EDIDLIL| 6L6ME 6TEOTEHT !

A)  ufeuFssemest QFWEITSHS femOLIL (B) Guevressrenio H&H6160 SienLOLIL

©)  wvysy asTe ML D) sinley Geuemev SiemLoLiL

eNdlseafletr ClBmELLN6T epsud CoHHEUSD G, HeBITesT @WIHSITD sTeoTLiLi(HLD
(P96 SHEDET 2_(THEUTEGUSHM (&L @(F 2 SHHlenwll NeTumMIE M.

A)  ufeufssemest QFWEITEHS emoLIL (B) Guwevrestrenio &&6160 iemLoLiL]

©€)  vyey usTe SiemLLIY D)  Blyewory SiemoLiLy

WeTEmAWLLLL  Bl6T-QEHenn  enwlNeT LHOILTSS CHTHSMISET LW 8 EHSE S
CaHCIuTMIgssT, LigeumigssT HMID USNDEESEMETET S eUTTHRISET MHMID FOUBSLILILL
sleomenwsd CeTLILGl&TsTous M TesT LOl6TerT(ha6) 6uFH CUTETM &(HEN&HEMET 6ULPMLIG IS TS

QOHBT, 215l GvEE Blemev LOl6tT Sy, EhemLo (plTey M.
A) sseusy B) smiy
(C) ufleugsgener (D)  wrHDD
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